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Wednesday, August 29, 2012

--- On commencing at 9:31 a.m.


MS. DJURDJEVIC:  Good morning, everybody.  I would like to welcome you to the technical conference in EB- -- File No. EB-2012-0112, which is the cost of service application of Canadian Niagara Power Inc.

My name is Ljuba Djurdjevic.  I am counsel for Board Staff, and with me on behalf of Board Staff is Birgit Armstrong.  Can we have appearances, please, starting with Mr. Faye right at the back?
Appearances:


MR. FAYE:  Peter Faye for Energy Probe.

MR. HARPER:  Bill Harper for VECC.

MR. RUBENSTEIN:  Mark Rubenstein for the School Energy Coalition.

MR. TAYLOR:  Andrew Taylor, counsel to Canadian Niagara Power Inc.

MR. BARBER:  Brian Barber, Canadian Niagara Power Inc.

MR. HAWKES:  Scott Hawkes, Canadian Niagara Power Inc.

MR. KING:  Glenn King, Canadian Niagara Power.

MR. BRADBURY:  Doug Bradbury, Canadian Niagara Power.

MR. SHEOGOBIND:  Stanton Sheogobind, Canadian Niagara Power.

MS. DJURDJEVIC:  The last one once again, please.

MR. SHEOGOBIND:  Stanton Sheogobind.
Preliminary Matters:


MS. DJURDJEVIC:  All right.  Thank you.

In terms of preliminary matters, the one that I am aware of is the filing of a letter by Mr. Taylor on August 27, 2012 advising that CNPI is amending its application with respect to the deferred PILs matter, and it is off the table, to put it bluntly.

And I think we should make this letter an exhibit, the first one in this conference.  So it is JT1.1.
EXHIBIT NO. JT1.1:  LETTER FROM MR. TAYLOR DATED AUGUST 27, 2012.

MS. DJURDJEVIC:  And in terms of any other preliminary matters or documents, is there anything that we need to put on the record?  Does anybody have anything?  No?  Okay.

So I think we will -- actually, if you don't mind, Mr. Taylor, if you want to...

My question I guess, just as a preliminary matter, Mr. Taylor, is whether the amendment of the application to remove the PILs account affects any of the other material or evidence that has been filed?  Will anything else need to be amended?

MR. TAYLOR:  Yes.  It will affect the rate impacts that were provided in the original application.  Is there anything else?  The tariff sheets.

MS. DJURDJEVIC:  So I guess we will deal with those matters after this conference, in terms of what -- updating the evidence in that regard?

MR. TAYLOR:  That's right.

MS. DJURDJEVIC:  All right.  So we received from each of the intervenors and from Board Staff correspondence indicating which issues they would like to address in today's conference, and I propose to have the intervenors start and we will go issue by issue.

Then Board Staff and myself, if we have anything to -- any follow-up questions, we will chime in then.

So the first letter I have is from I guess it was -- Mr. Faye, if you don't mind, just because you happen to be sitting at that end, we have your letter of August 21 indicating which issues -- I don't think anybody has issues, any questions, around issue 1.  They all sort of seem to start with issue 2.1.

If you wouldn't mind starting us off with your questions, and then we will move to Mr. Harper and Mr. Rubenstein.
CANADIAN NIAGARA POWER INC. – PANEL 1


Scott Hawkes

Glenn King

Doug Bradbury

Stanton Sheogobind

ISSUE 2.1

Questions by Mr. Faye

MR. FAYE:  Okay.  Our first questions concern Energy Probe 8.  I think you will find that around page 49 of the IRs.

This one was a 2009 project to relocate some back lot overhead to front lot underground in a subdivision called Point Abino.

Our interest in this one was to try and understand the company's policy on rebuilding or relocating back lot overhead construction, and you have given us some of the information we wanted.

I would just like to get some elaboration on it.  When you decide to do something with back lot overhead construction, what is the process you go through to determine how that line should be either rebuilt or relocated?

MR. SHEOGOBIND:  Thanks for the question.  I guess we look at a couple of factors.

First of all, there is economic considerations, of course, to whether we leave the line in the back lot or whether we relocate it to the front lot, and one of the critical issues in these types of scenarios is always accessibility to the line.

We often find that where lines are in the back lot, often they're harder to access, which makes them harder to maintain.

We also get more issues with vegetation management, because you tend to find more vegetation in the back lots, and, again, that is harder to get to in terms of maintaining your clearances around the line.

So that is one of the key considerations we would look at, obviously, is the economics of keeping the line where it is versus relocating it to front lot.

This was one of the instances where, you know, from an economic perspective, as well as an ongoing maintenance perspective, it made practical sense to relocate it to the front lot.

MR. FAYE:  So when you say "accessibility", this pretty much boils down to you can't get a bucket truck back there, so your people have to walk in and climb?

MR. SHEOGOBIND:  That is correct, yes.

MR. FAYE:  Okay.  The vegetation management, is that a real issue or can you get around it with aerial cable?

MR. SHEOGOBIND:  It is a real issue, and aerial cable is something that we have looked at in a couple of instances.

We do find that, you know, the issue with aerial cable is that, for one, it is more expensive than your conventional bare conductors.  While it does address the issue of the vegetation and the encroachment, you're still left with the issue of access to the lines for maintenance.

So typically what you will find in our system is that we have tended not to use aerial cable.  We do have some legacy aerial cable on the system, but in recent years we have tended to move away from aerial cable as an option, because we don't find it to be -- I guess we don't find it to be a practical option in that sense, because there's still the issues of accessing the back lot lines.

MR. FAYE:  And the maintenance that you are referring to, can you describe the kind of maintenance that these back lot lines typically need?

MR. SHEOGOBIND:  Yes, of course.  Obviously one of the critical factors would be accessing the line for reactive maintenance.  That's one of the major considerations.

If there is a fault or a problem on the back lot, and then we have customers without power, then obviously it's critical that we get back there and find out what the problem is, isolate it, and restore power to customers.

And what we find is that in the back lot, that does become a challenge, particularly for reactive maintenance and restoring power.

And then the other types of maintenance we would do, of course, is, like, our ongoing maintenance, such as our switch maintenance programs, if there are switches in the back lot, and things of course like the vegetation management.

MR. FAYE:  Okay.  So if we're at the point, then, where you've decided the line has deteriorated to the point where something has to be done?

MR. SHEOGOBIND:  Correct.

MR. FAYE:  And you've made the decision that economically, I mean, the cost of maintenance is getting -- the cost of accessibility --


MR. SHEOGOBIND:  Right.

MR. FAYE:  -- is higher than the cost of moving it to somewhere where you can roll up with the truck.  Did I understand is that right, that you do some sort of an economic trade-off?

MR. SHEOGOBIND:  Yes, we do do an economic evaluation of the cost of -- what does it cost us to keep where the keep the line where it is versus the cost of moving it to the front lot.  If there are capital cost savings in moving it to the front lot, does it then make sense from a long-term perspective, when you consider the maintenance costs and the issues of access?

MR. FAYE:  This particular project, though, was customer request, was it?  Did I understand that right?

MR. SHEOGOBIND:  The Point Abino project in 2009, yes, that is correct.  This was a customer request; this was not initiated by CNP.

So this was a case where the customer made a request, and then we looked at the project from an overall system perspective in terms of what makes sense long-term for the CNP distribution system in that area.  And we decided to -- you know, it was an opportune time to relocate the line to the front lot.

MR. FAYE:  So the economic consideration, was that a moot point in this because the customer asked you to relocate it anyway?

MR. SHEOGOBIND:  Not necessarily.  We still would look at the economics of leaving it where it is, even if the customer was making a contribution or it was a customer request.

Because, I mean, at the end of the day we still want to act in the interests of the ratepayers, and come up with the most economically viable solution.

MR. FAYE:  Did the customer request this line to be buried?  Or was that a decision of CNPI?

MR. SHEOGOBIND:  Give me a sec.  I am just trying to refresh my memory on this one.

This was a case where the customer had requested the underground.

MR. FAYE:  Now, if the customer hadn't requested the underground, would you have rebuilt that line overhead?  Or would you have still built it underground?

MR. SHEOGOBIND:  It is quite likely that we still would have gone underground, because the Point Abino subdivision is a heavily-treed area and I think when we would have looked at the practicality of an overhead line, I think we would have eliminated that as a practical consideration just because of the denseness of the foliage around.

MR. FAYE:  Is that the major criterion that you use to make that decision?  Or do you have a standard policy that when you move from back lot, you just customarily rebuild it underground?

MR. SHEOGOBIND:  No.  It is not a standard policy that when we relocate from back lot we would go underground.

In this specific instance, because of the nature of the vegetation in Point Abino, this was the solution that made practical sense.

MR. FAYE:  So do you have a written policy on that circumstance?  When you decide to relocate a line to -- that is currently overhead to underground, how do your staff proceed making that decision?  Is there a written policy they're guided by?

MR. SHEOGOBIND:  There is not a written policy per se, because every circumstance can be different.  Like I say, you know, this decision was made in Point Abino.

If as it in Stevensville, for example, the decision could well have been different in terms of overhead versus underground.

So we don't have a written policy, per se.

What we would do is consider each case on an individual basis, you know, both from the economic perspectives, as well as the operational issues that would have to be taken into account.

MR. FAYE:  Moving, then, to how the contribution in aid of construction is calculated, if I understand you right, you determine first how you would rebuild the line at the point where it needs to be rebuilt or relocated?

MR. SHEOGOBIND:  Correct.

MR. FAYE:  You estimate that?

MR. SHEOGOBIND:  Yes.

MR. FAYE:  Then you estimate what the customer has requested you do?  They could have requested overhead, I take it?

MR. SHEOGOBIND:  Right.

MR. FAYE:  They requested underground.

You compare those two and the difference is the contribution in aid; is that a correct understanding?

MR. SHEOGOBIND:  That's correct, yeah.  We would estimate the future cost of CNP rebuilding the line.  We would calculate the present value of that cost.

Then we would estimate the cost of the relocation that is requested by the customer, and the CIAC is essentially the difference between those two values.

MR. FAYE:  Could I get some sort of a grasp of how often this kind of thing occurs?  Do you have -- could you prepare a bit of a table that says:  Here's the lines that we relocated in the last few years, and here's how many were not relocated, like for like.  You know, that they were overhead, they went underground.

That is the particular thing I am interested in.  How often does this happen?

MR. SHEOGOBIND:  Is your question how often would we relocate an overhead line and put it underground?  Is that the question?

MR. FAYE:  Yes, for the lines that needed to be rebuilt or relocated, how many of those overhead ended up being rebuilt underground?

MR. SHEOGOBIND:  Okay.

MR. FAYE:  And how many were just done like for line; if they were overhead, they remained overhead.

MR. SHEOGOBIND:  Okay.  I understand your question now.  I would say that it is rare that we end up with a situation where we relocate an overhead line and it goes underground.

Most of the time when we relocate lines they would remain overhead, because we do look at overhead construction as a standard mode of construction in Fort Erie.  And obviously when you look at the economics, that obviously is the cheapest way to go, is to remain overhead.

In most circumstances when we are relocating lines, they would remain overhead.  This was one of the exceptions.  And again, in this case, it is just an exception based on the nature of this Point Abino area.

MR. FAYE:  I think that is all I had to ask on that particular IR.

Our next one is 11, and still on the same issue, rate base, 2.1.

When I look at the evidence on here, on page -- on Exhibit 2-2-5, page 7, right at the bottom of the page there, this concerns a couple of underground services to a sewage pumping station on Thompson Road, and a local historic park.

You have given us the contributions in aid at 15,625 for the pumping station, and 22,124 for the historical park.

At the bottom of that page reference I just gave you, it says that these were constructed in 2011 for a cumulative cost of 52,000.  I just don't quite understand how I should interpret the 52,000.

Is that the total cost of the project, the cost only to CNPI, the difference between the actual and the CIAC?  What is that?

MR. SHEOGOBIND:  That cost of 52,000 would be the gross cost.  And typically that was what we've done in evidence, is present gross costs.

So the 52,000 is the total cost of providing service to those two locations, and then the CIAC would be a contribution towards the 52,000.

MR. FAYE:  So the contributions in aid look like they're going to come around 38,000.

MR. SHEOGOBIND:  That is correct, yes, 37 and change.  Yeah.

MR. FAYE:  Can I conclude, then, that the difference, the 14,000, is what it would have cost to build these lines overhead?  Is that a fair assumption?

MR. SHEOGOBIND:  No.  I think in this instance, the CIAC is basically the customer contribution that they make to offset the cost of us providing new service to the customers.

But in this instance, the issue of overhead versus underground would not have come into play, because typically for projects of this size we would have provided an underground service.

MR. FAYE:  All right.  Well, then, maybe we'll have to back up a little bit, then.

I don't understand -- I had assumed that the contribution in aid was the difference between the equivalent overhead service and the underground service, the cost of those two things; is that incorrect?

What is the contribution for, if it is not to take up the difference between an overhead service and an underground?

MR. SHEOGOBIND:  Our overhead system is basically the backbone of our system.  So in a case like this - let's take the pumping station, for example - our practice typically is that we would run overhead to the last pole, and then either we would have a transformer bank on that pole, then we would run underground into the customer location; or, if it's a case where the service is provided by a pad-mounted transformer, we would go overhead to the last pole, which is the riser pole, and then we would run cables underground to the pad-mounted transformer.

So, basically, our policy is that any new customer provides us with a CIAC, contribution in aid of construction, to basically offset our costs of providing them with that service.  And that is basically the costs to provide facilities on their property.

In these cases with the large customers, the larger services, since our practice is typically to provide underground service, the CIAC is not really -- it's not really applied in the sense of the difference between providing them with overhead versus underground service, because the service wires are underground.

MR. FAYE:  Your standard service that you offer to customers at no cost to them is an overhead service; right?

MR. SHEOGOBIND:  Correct.

MR. FAYE:  And then --


MR. SHEOGOBIND:  Like, in the case of a typical house, yes.

MR. FAYE:  If they want an underground service, am I right in assuming that you would charge them the difference between what it would cost to do overhead and what it would cost to do the underground; is that right?

MR. SHEOGOBIND:  That's correct, yes.  If it is, say, like a typical house service and for whatever reason the home owner wanted an underground service as opposed to our standard overhead-type service, then, yes, they would pay the incremental cost.

MR. FAYE:  So then let me just tell you what I think you said.  These contributions really weren't for the difference between overhead and underground.  They were for the fact that the underground that would have been supplied as your standard anyway happened to be a lot longer than what you would ordinarily put in, so they had to pay for the facilities that went into their property.

Do you have a standard length of service that you provide at no charge, and then beyond that it is something more?

MR. SHEOGOBIND:  Yes.

MR. FAYE:  Is that what these contributions were for, then?

MR. SHEOGOBIND:  Yes.

MR. FAYE:  Fine.  Ljuba, I think that is all that we have on 2.1.

MS. DJURDJEVIC:  Thank you, Mr. Faye.  I guess we will just move within with Mr. Harper on issue 2.1.

MR. HARPER:  I don't have any questions on 2.1, thanks.

MS. DJURDJEVIC:  Okay, Mr. Rubenstein.
Questions by Mr. Rubenstein:

MR. RUBENSTEIN:  I just have a follow-up.

I assume -- now I am slightly confused from the discussion you had with Mr. Faye.  I assume you have a policy or some sort of document that describes how you calculate construction in aid that you must have provided to these individuals for these sorts of projects?

MR. SHEOGOBIND:  Yes.  There is a standard policy that we follow for calculating CIACs.

MR. RUBENSTEIN:  Can you undertake to provide that?

MR. SHEOGOBIND:  Yes, we can do that.

MS. DJURDJEVIC:  That will be our first undertaking, KT1.1.
UNDERTAKING NO. KT1.1:  TO PROVIDE POLICY document FOR CALCULATING CIACS.

MR. RUBENSTEIN:  I don't have any other questions on this issue.

MS. DJURDJEVIC:  And Board Staff does not have any questions on issue 2.1, so we will just move on with -- I think 2.2 was the next one that parties wanted to ask you questions about, so, again, we will turn it over to you, Mr. Faye.

MR. FAYE:  I don't have any questions on that issue.

MR. HARPER:  I don't have any either.

MS. DJURDJEVIC:  Mr. Rubenstein?
ISSUE 2.2
Questions by Ms. Armstrong:

MS. ARMSTRONG:  I have one.  Just a quick confirmation that the fixed asset continuity schedule provided in Energy Probe IR No. 22, as well as in the Exhibit 2, tab 1, schedule 7, page 5 includes the legacy -- Port Colborne legacy assets in the opening balance?

MR. KING:  Can I get a reference?

MS. ARMSTRONG:  Energy Probe No. 22 under issue 2.2, Exhibit 2, tab 1, schedule 7, page 5.

MR. KING:  Bear with me.  It is hard to find references with this.  Yes, it would.  The assets were actually acquired in 2012.  I was wondering why I couldn't see them in 2013, but they were acquired in 2012.

MS. ARMSTRONG:  I was just confirming the opening balance.

MR. KING:  It does.  Sorry, it's difficult to negotiate between these schedules.

MS. ARMSTRONG:  Okay.  That's it for me.

MS. DJURDJEVIC:  I think nobody had any questions with respect to issues 2.3 or 2.4.  Then the next one that one of the parties wished to discuss was 2.5.  Over to you, Mr. Faye.

MR. FAYE:  Nothing on that issue.

MS. DJURDJEVIC:  Mr. Harper, nothing?

MR. HARPER:  No.

MS. DJURDJEVIC:  Mr. Rubenstein, 2.5?

MR. RUBENSTEIN:  No.

MS. DJURDJEVIC:  Board Staff I believe has some questions.
ISSUE 2.5
Questions by Ms. Armstrong:

MS. ARMSTRONG:  Yes.  This is a high-level question.  I have noticed, both in response to Board Staff Interrogatory No. 8, as well as in the evidence, that your capital expenditure seems to be showing spikes both in 2008, as well as in 2012.

Can you just discuss that?

MR. KING:  So just to confirm, so you're talking appendix 2-A, summary for capital projects, Fort Erie and EOP.  And the bottom line looks like 2007, 5.2 million, 2008, 5.5?

MS. ARMSTRONG:  Right.

MR. KING:  2009, 4.6; 4.6, 4.9, then 6.4?

MS. ARMSTRONG:  Right.

MR. KING:  Okay.

MS. ARMSTRONG:  And I am particularly concerned about the 6.4 in 2012.

MR. SHEOGOBIND:  Okay.  Thanks for the question, I think I will try to answer that.

In 2008, there was a couple of lumps in '08.

One of them pertained to station 13, the station 13 relief project.  There was a new two-way radio system that was implemented, and we also did an upgrade to our phone system.  So in total, that came up to 500,000 and change.

So I would think that would be the main reason for the jump in 2008.

Then when we turn to 2012, there is a couple of projects that are driving that increase in 2012.

There's a couple of substation projects; the project at station 19 is one of them.  There was the environmental PCB project, and there also is the phone system upgrade for 250,000, and IT projects in the order of 750,000.

So when I look at it, those are the things that jump out at me in 2012.

MS. ARMSTRONG:  I am a little bit concerned about the timing.  I mean, can you give me more background as to why phone systems need to be done at that time?

MR. SHEOGOBIND:  Sure, if you could give me a minute to refer to my notes.

MS. ARMSTRONG:  Mm-hmm.

[Witness panel confers]


MR. SHEOGOBIND:  Sorry to keep you waiting.  Let me try to answer your question on the phone system.

The upgrade done in 2008 was basically just a smaller-type upgrade to get us through for the next couple of years.

In 2012, we had to undertake the major upgrade to the CNPI telephone system, and some of the drivers for that was because the maintenance agreement for the existing system expired in March 2012.  So basically after that time we would have, you know, no vendor maintenance for the phone system.

We had to make upgrades to achieve enhanced functionality, comply with regulatory requirements, as well as secure ongoing vendor support, because without the phone system upgrade we would not get that vendor support.

And I think there was also regulatory requirements in terms of -- I think it had to do with -- was it the call recording?  Yeah, which was an OEB requirement.

So basically it was an opportune time to upgrade the entire phone system.  The project included new handsets, new voice-mail, addition of remote agent functionality to support business continuity and, as I mentioned, the addition of call recording capability to meet OEB requirements.

We also were able to secure a five-year vendor support agreement with the phone system upgrade.

MS. ARMSTRONG:  Let me move on, then, to your vehicle replacement policy that was shown in Board Staff No. 9.

MR. KING:  Go ahead.

MS. ARMSTRONG:  And I have noticed that you are replacing two bucket trucks, one for Fort Erie, one for Gananoque.

The one in Gananoque, I believe, is an older vehicle, but I am a bit more concerned about the Fort Erie one, which is a replacement of a 2002 42-foot single bucket truck.

Can you just walk me through why this vehicle needs to be replaced at this time?  It doesn't seem to fit the criteria you provided for vehicle replacement, fully.

MR. SHEOGOBIND:  Okay.  I will try to answer the question.

There is a few factors we look at when we're replacing vehicles, and -- which would include our line trucks.  Obviously the age would be one factor, because as vehicles get older they do incur more maintenance.

But we also look at maintenance costs that we're incurring on the vehicles.  And, you know, sometimes we would find that those maintenance costs are getting -- as they get higher, then it makes sense to replace the vehicle, even though the vehicle may not be, you know, of the vintage where we typically would replace it.

But this was close.  I mean, this was a 10-year-old bucket truck.  But one of the primary drivers for acquiring the new bucket truck is what we're finding from a practical perspective and an operational perspective on the system is that our -- we're necessarily having to go to higher pole heights as we, you know, move to new standards on our system, and we are finding that we are having difficulty with existing fleet at reaching some of the lines on top of taller poles.

So the new bucket truck that we are acquiring is also going to address those issues, both in terms of being able to reach lines on higher poles, but also because we have a lot of back lot construction still in the Fort Erie area.  The new bucket truck will also give us the reach to better be able to do work in the back lots.

So that was one of the drivers to acquiring the new bucket truck.  And then, you know, combined with that was the fact that the maintenance costs on the 2002 model were getting much higher.

MS. ARMSTRONG:  Okay.  Thank you.

MS. DJURDJEVIC:  The next issue that some parties have questions in respect of is 2.6, and Mr. Harper, did you have any questions about that one?

MR. HARPER:  No, I don't.

MS. DJURDJEVIC:  Mr. Rubenstein, I believe you had some?

MR. RUBENSTEIN:  Actually, I don't.

MS. DJURDJEVIC:  Okay.  Board Staff?  No?

All right.  Then the next issue would be 3.1, and, again, Mr. Harper, did you have anything on that?  I know Mr. Faye didn't.

MR. HARPER:  Yes, I do.

MS. DJURDJEVIC:  Okay.
ISSUE 3.1

Questions by Mr. Harper:

MR. HARPER:  So 3.1, my first question is -- you don't have to turn it up, but in VECC No. 2 we'd asked you for whether you had run any models trying to explain wholesale purchases for any of the service areas, Gananoque, Fort Erie or Port Colborne.  We also asked, if you had, could you provide those models and could you do forecasts for 2013.


In all cases you referred us to OEB No. 17, and that's the one I would like you to turn up.

And here in OEB 17 - I will just wait for you to get there - here what you've done is you provided us the model, a model that you -- wholesale model that you estimated for Eastern Ontario Power, and I was just wondering whether or not you or your consultant, Elenchus, had estimated wholesale models for either Fort Erie or Port Colborne.


MR. BRADBURY:  It is my understanding that Elenchus, in responding to this question, felt the reply was valid for all three, that they made the same attempt.

MR. HARPER:  I guess if they made the same attempt, what I was looking for and what we had asked for and actually what Board Staff asked for was, if you made an attempt, could you provide us with the best model you had come up with, given the attempts that you had made?

You did that for Eastern Ontario, and I was just looking for the similar models for Port Colborne and Fort Erie, if you had done those, as well.

MR. BRADBURY:  Okay.  Our consultant couldn't be here today, so I am really going to have to take this one on an undertaking either to come back and give you a response -- he may be available if this conference goes into the second day, but...

MR. HARPER:  I think it is simply a matter of, if you haven't done it, I am not going to ask you to do it at this late date in the process.  But if you actually did develop a model or your consultant, Elenchus, did develop a model, just as an undertaking, take an undertaking to provide the details on that, similar to what you did for the Eastern Ontario model on page 2 of your response.

MR. BRADBURY:  I will undertake that.

MR. HARPER:  Okay.

MS. DJURDJEVIC:  That will be undertaking KT1.2.
UNDERTAKING NO. KT1.2:  TO PROVIDE DETAILS, IF A MODEL WAS DEVELOPED, FOR WHOLESALE PURCHASES FOR PORT COLBORNE AND FORT ERIE, AS PER OEB IRR NO. 17.

MS. DJURDJEVIC:  Just to clarify, it is to advise if there is a model for...

MR. HARPER:  Wholesale purchases for either Port Colborne or Fort Erie similar to that provided for eastern Ontario.  If so, please provide the details.

MS. DJURDJEVIC:  Okay, thank you.

MR. HARPER:  I guess, similarly, you had indicated I think in the response here that one of the problems with this modelling was dealing with the large industrial customers and concerns about how the loads fluctuating there were sort of something that sort of were causing problems with the modelling.

On page 4 of this response, you provided a model that excluded the large customers for Eastern Ontario Power.

Again, maybe if you could just check with -- maybe as part of the same undertaking, check with Elenchus and see whether they had done similar work excluding the large industrial customers for either Fort Erie or Port Colborne, and provide the results for those as well, if they have.

I am not asking them to do it if they haven't.  It is just a matter, if they have, if they could provide the results.

MR. BRADBURY:  Okay.  Yes, we will do that.

MS. DJURDJEVIC:  That is still part of undertaking KT1.2.

MR. HARPER:  I guess both us and Board Staff had also asked you to, using these models, provide some projections for 2013, and you haven't done that either for Eastern Ontario Power where you did provide the model, obviously, for the other ones.

Is that something that you could do for us, if there are models that have been developed?

MR. BRADBURY:  It is my understanding that the data that was being developed in response to the interrogatories weren't producing valid results, and we -- I thought in the interrogatory response we pointed that out.  But whether or not those results are available, again, I apologize, we would have to take that into an undertaking to --


MR. HARPER:  I appreciate that.  I guess I will tell you where I'm coming from on this, just so you know.  That is, in reading the responses, it seemed to me one of the major concerns with both yourself and your consultant about using this particular approach was how you then subsequently divided the kilowatt-hours up between customer classes, and a real problem there.  And I can appreciate that problem.

But it seemed to me, if that was the problem, one could then -- and if these models, to the extent we got them and they looked like they were reasonable, like your wholesale model for Eastern Ontario Power looks like a fairly reasonable model at an overall level, is it possible then at that level to sort of use those results and the forecasts for 2013 basically as a reasonableness check against the forecast that you have filed?

MR. BRADBURY:  Well --


MR. HARPER:  That is really where I was going on this, was to try and see -- the Board has expressed a preference for this type of approach, and just to see, reasonably, how do the two align where you have a model that does look at a wholesale level, provides -- has a reasonable, robust result.

MR. BRADBURY:  I know, in discussing it with the consultant early on, obviously our preference would have been to come up with a model that is more in line with what the Board is seeing in the -- and their preference that was specified in the memo filing requirements.

However, Gananoque in particular is one where -- and we discussed -- we discussed in our last the cost of service the fear of what we were seeing happening in Gananoque.  And, sure enough, it did happen, you know, where the industrial base was decimated.

And, as a result, that is -- in our opinion, that same -- the same event has had an impact on the small commercial down there, be it the, you know, lodges, the small hotel industry, restaurant industry, and even the residential.

Basically, that utility is, for all intents and purposes, where it was two in 2005 absent the industrial customers, we have seen no real growth.

We have seen some change over services, some customers relocate to vacated buildings, some things like this.  And because of that, we were talking really of valid data of really only a few years, I mean, 2008, 2009 and '10, maybe '11.  And the consultant, in going back - and we were making so many adjustments and so many assumptions - really felt that we were doing it to a point where the exercise had no validity whatsoever.

I think we were seeing the same thing in Port Colborne.  We have had -- and we've spoken to it in Port Colborne, in terms of volatility and loss of customers particularly - I must have moved the power cord - in Port Colborne, particularly with what we've seen in the large customers and the two customers that you are no doubt going to refer to in future IRs relating to low voltage, is our two embedded generator customers.

We have seen a great deal of volatility in their load.  They are the largest customers in Port Colborne, and as in the application, one of those customers is going to leave the system.  They're in the -- from what I understand, in my last conversations with them, they're preparing to commission their station.

We've lost one of the largest mills there that was a traditional industry in Port Colborne.  Another mill that was one of our largest customers really is only operating on a demand basis.  They're really just acting as an elevator for storage, and totally unpredictable when they will actually operate and move product.

So we've been seeing those volatilities.  We have no way of predicting it, when it is going to happen.  The co-gen customers tell us in a lot of cases it is tied to what they can do on gas pricing, this type of thing.

So from that point of view, we made the, at the time, somewhat difficult decision to say we would have to go with the average use per customer, knowing that it wasn't the preferred methodology.

But in saying that, if data is available from the consultant, we will undertake to provide whatever it is that you think might assist you in your decision making.

MR. HARPER:  That would be useful.  And I guess -- I notice the one model you used for Eastern Ontario uses heating and cooling degree days, and if it would be possible -- if you provide a forecast, that's fine, you know.  Maybe you could just -- in either event, if you do or you don't, if you could just tell us what is the average heating and cooling degree days you are assuming for each of your three service areas when you are doing that, when you are doing that sort of analysis.

MS. DJURDJEVIC:  Let's give that Undertaking No. KT1.3.
UNDERTAKING NO. KT1.3:  to EXPLAIN THE NORMAL LEVEL OF HEATING AND COOLING DEGREE DAYS FOR EACH SERVICE AREA used to explain loads.

MS. DJURDJEVIC:  Could we just restate it just for the record?

MR. HARPER:  Yes.  The one model they did provide had used both heating and cooling degree days.  I guess it is a matter of, when you are doing weather-normalization and weather-normalization forecast, you use what you view as being the normal amount of heating and cooling degree days.  And I was just wanting a statement from them as to forecast, what would they be using as the normal level of heating and cooling degree days for each service areas where they've used this in explaining loads.

MS. DJURDJEVIC:  Thank you.

MR. HARPER:  I don't have any more questions on 3.1.

MS. DJURDJEVIC:  SEC?  Schools didn't have any questions on 3.1?

MR. RUBENSTEIN:  No.

MS. DJURDJEVIC:  Then Staff?
Questions by Ms. Armstrong:


MS. ARMSTRONG:  Thanks.

You already answered the question I had, to some degree.  I was just wondering, with the declining trend in Gananoque in the residential area, can you elaborate a little bit more on the reasonings for that?  I mean, we have heard about the GS less than 50 and GS larger than 50, but...

MR. BRADBURY:  Essentially, it is my understanding that people are leaving for employment reasons.  The largest employers in the area have closed their doors, and in many cases the plants have been demolished or rebuilt.  So they're not coming back.

So it is also -- Gananoque's main existence now, from my understanding, is the tourism industry.  And it is on the Thousand Islands and, really, there is nothing -- I think it's just mature positions there, and then what we're seeing is they're leaving.

We're also seeing some cases there's -- we don't have a seasonal residential class in Gananoque, but many of the residences along the St. Lawrence River are seasonal in nature, and we're seeing some decline there, as well.

MS. ARMSTRONG:  Okay.  Thanks.

I have another question on Board Staff Interrogatory No. 18, where you provided some average numbers.  You're showing a simple average for Port Colborne of 7,866 for the residential class and 26,636 for the GS less than 50.

That seems to be slightly different averages from what you have provided in your evidence, in table 6, Exhibit 3, tab 2, schedule 2, appendix A, which was 7,871 and 26,530 respectively.

Can you reconcile that?

MR. BRADBURY:  I can't reconcile it right at this time.  I -- I know VECC has asked a very similar question.

There are some slight variances in the manner in which I calculated average use per customer and the way the consultant did it.  I will have to go back and compare my notes to his, but they're basically -- we use the same base data set.  They are our year-end customer counts.

In my manner of doing it, I always use the December year-end customer counts, when we do things internally.

The consultant normally takes it from one period in a year to another period in a year.  I know there were some slight discrepancies in some of the numbers that Mr. Harper had asked for earlier, as well.

Without going back and looking at the exact underlying data, the year-end customer counts that we report in 2.1.5, that is what I use.

The consultant used slightly different numbers, so I am assuming that is where the difference lies.

MS. ARMSTRONG:  Can you just, when you provide us with the answer, can you also clarify which one is your actual proposal, which one do we go with?

MR. BRADBURY:  The proposal is based on the consultant's forecast.

MS. DJURDJEVIC:  That will be Undertaking KT1.4, and Ms. Armstrong, could you just clarify on the record what the question was?  The information that they're going to...

MS. ARMSTRONG:  I think it was actually answered.

MR. BRADBURY:  I think the answer is the -- whilst we use the same data set, we don't use it in the same way.

So the underlying customer numbers are 2.1.5 numbers that are reported to the OEB in April of each year, giving the year-end numbers of the previous year.  That is the underlying source of the data.

MS. DJURDJEVIC:  So we don't need any undertaking on that?  Okay.  Scratch that.

That's it on rates.

The next issue 3.2, I believe VECC had some clarification questions on that one?  Mr. Harper?
ISSUE 3.2

Questions by Mr. Harper:


MR. HARPER:  Yes.  And actually -- actually the IR was logged under issue 3.1, but since it dealt with customer connections and that was issue 3.2, I guess it follows up a bit on Board Staff's same question, and may have the same answer.

I guess if you want to turn up VECC IR No. 1, here we've asked you for Port Colborne for the GS greater than 50 class, what the kilowatt-hours and customer count was for each year, excluding the one large customer.

I would attempt to pronounce it, but I would probably mangle it entirely, so maybe you can pronounce the word for me, the name for me, and then I can...

MR. BRADBURY:  It's Jungbunzlauer.

MR. HARPER:  And for the court reporter, that is J-U-N-G-B-U-N-Z-L-A-U-E-R.

And I guess -- so you gave us a history, 2007 to 2011, and number of customers, excluding this one large user, and when I went back and compared that with the Elenchus load forecast report, which was attachment A to Exhibit 3, tab 2, schedule 2, and sort of took their customer count in total and subtracted one from it, I didn't get the numbers in this particular response.  And I assume the answer -- the explanation for that is exactly the same as the explanation that you gave Board staff?

MR. BRADBURY:  The explanation is the same, and unfortunately the GS 50 -- GS greater than 50 class in Port Colborne is often -- there is a challenge here with boat services, and we talk about that in other parts of the application and there is some IRs.

We have the large lake boats that will tie up in Port Colborne when the Welland Canal closes for the winter.

These boats take services for brief periods of time.  Some of them, depending on what equipment they're going to use, will be classified as GS less than 50.  If they're going to use large welding equipment and we know the nameplate data, the equipment that the contractor is going to use, they go in as a GS greater than 50.

It is conceivable that the duration of the customer connection may be only days or weeks, or in some case it might be throughout the winter.  It -- when you are looking at the monthly customer counts and you're looking at monthly data, it makes it difficult to hone in on the exact number, in some cases.

MR. HARPER:  Maybe just for our own clarification, you indicated that your customer counts for the forecast were basically those prepared by the consultant.  My understanding is the consultant is using average annual customers.

MR. BRADBURY:  Yes.  He used average annual.

In my work and my analysis in here, I always use the year-end number, because in my previous experience, intervenors like yourself and Board Staff will always attempt to take my numbers and tie them back to the Triple-R filings.

MR. HARPER:  The other thing I wanted to clarify, and maybe if you don't know and you have to ask the consultant, that's fine, is average annual, you mentioned monthly.  When they do average annual, one way to do average annual is just take the number from the previous December 31st, this December 31st, and average the two of them.

Another way would be to do month over month over month.  The way you are describing the boat services, it seems to me you could come up with vast differences in terms of which -- which one of those two approaches you use.

I guess I was wondering, from Elenchus's perspective and your forecast, which of those two ways did you calculate the average number of customers.

MR. BRADBURY:  Elenchus asked for the month over month numbers.

MR. HARPER:  So it would be take the twelve months in 2012 and divide by 12?

MR. BRADBURY:  Basically, yes.

MR. HARPER:  I just want to understand what the explanation is, okay.

The final thing is, and just staying with that VECC No. 1, when I see two actual numbers that come out exactly the same, I always get suspicious.  If you look at that response and you look at the values for 2008 and 2009, they have exactly the same use per customer, which on a random basis I find highly unlikely.  And I think maybe I would ask you to just check your math on those and see whether one of them needs to be corrected.

Maybe it is right.  I think the 2009 value should actually be 1,122,897.  If you want to look at that over the break and --


MR. BRADBURY:  That may be a typo.  I will check.

MR. HARPER:  Okay.  The only other question I had on 3.2 was dealing with VECC No. 8.

MR. BRADBURY:  Yes, okay.

MR. HARPER:  Here the question itself was asking for actual customer counts, and I think you talk a bit here about boat services.  What intrigued me about this answer was the first paragraph where we're talking about sort of the introduction of smart meters and how some residential customers prior to the introduction had two meters, one for domestic load, one for residential heating, and that through the smart metering implementation process, you were incentivizing customers to remove one of those.  And that is fine.

I was trying to understand how encouraging customers to remove one of these meters would, as your last sentence indicates, result in additional customer counts.

I thought if they were taking out meters, it might have reduced your meter count, and therefore your customer count.  Maybe you could explain that for me.

MR. BRADBURY:  Not all customers chose to take the incentive.  One of the reasons I framed my answer in that way, we are seeing them come back and saying, Well, can I still get it, type of thing.

But particularly for rental properties, we found in Gananoque and -- it is not in Fort Erie.  Gananoque and Port Colborne, particularly in rental properties, they chose to leave the two services there.  And under smart metering we can't -- we can't totalize.

So under the old system, we totalize the two bills and send the customer one bill, so they pay one basic monthly charge and paid the combined usage on the two meters.

In the new system, using the MDMR data or the ODS data, we have to bill them as two customers.  We don't think that is going to endure.  We feel, in discussions with some other utilities, it is not unique to us.  It is a legacy issue of the old Ontario Hydro days when people were -- they were encouraged to have electric heating, and then they were giving, from what I understand -- I wasn't here, but from what I understand, preferential pricing on electric heating.  So they had a second meter.

So we don't feel the customers in all cases we should use the resultant two customers out of one, because we feel it will skew going forward, and we think they will come in eventually or in the near future and ask to have it combined.

MR. HARPER:  So it is fair to say the customer counts that you forecast for 2012 and 2013 here basically are reflective of the old practice where, if somebody had two meters, they would have been counted as one customer?

MR. BRADBURY:  That's correct.

MR. HARPER:  That's fine.  I just wanted to understand if it impact the forecast.

MR. BRADBURY:  It did.  In fact, it is not a large number, but, yes, it was an impact.

MR. HARPER:  That is all of the questions I had on issue 3.2.

MS. DJURDJEVIC:  Okay.  Moving on to issue 3.3, I believe, Mr. Harper, you're the only one that had -- and Board Staff.
ISSUE 3.2

Questions by Mr. Harper:


MR. HARPER:  Yes.  I would like to refer, under 3.2, to the response to VECC No. 9.

MR. BRADBURY:  Yes.

MR. HARPER:  In this response, if you turn to response to part d), in the table here you show a cumulative energy target achieved from 2011 through 2014 for each of your two service areas.

MR. BRADBURY:  Based on the Board's targets.

MR. HARPER:  Right.  This is sort of your sort of view and the plan as to how you would get -- so basically in 2014, say the 15.8 gigawatt hours for Fort Erie-Gananoque, that represents the Board's target?

MR. BRADBURY:  That is the Board's target, yes.

MR. HARPER:  Just to understand, because we have a 2013 application here, that this number you've got here is 7,651,135 kilowatt-hours cumulative energy target for 2013.

Would you agree with me that that number represents the savings in 2011 from 2011 programs, plus the savings in 2012 from both 2011 and 2012 programs, plus the savings in 2013 from programs implemented in 2011, 2012 and 2013?

MR. BRADBURY:  That's implied, yes.

MR. HARPER:  Yes, okay.  So that the actual CDM that you would actually be observing as having been saved in 2013, what would that number be?

MR. BRADBURY:  The number that is in our forecast?

MR. HARPER:  Well, no.  I appreciate your forecast didn't have anything in it, but based on this plan or view that you have here, maybe putting it another way, is it fair to say that based on this plan you have here, the amount of CDM you would expect to achieve in 2013 from programs implemented either that year or the previous two years would be the 7,651,135, minus the numbers you are showing for 2011 and 2012?

MR. BRADBURY:  No, it won't.  This one gets rather complicated.  I'm going to have to try to explain why we never factored CDM.

We have assigned Board targets.  We feel -- and as the project has been progressing, we feel we're going to have to petition the Board to reduce the targets.

And the reason for that is, as pointed out in our application, we have lost -- we have lost in Fort Erie the large customer, the OLG customer we talked about.  It was a significant customer, and it was a candidate to find kilowatts and kilowatt-hour savings, demand savings, fairly large.

Since we submitted our application, knowing that OLG is going to close their doors, we have also lost the horse racing industry.  Fort Erie is -- has a cottage industry almost built around horse racing.  It is one of the oldest horse race tracks in North America, from what I understand, and there is a lot of small spin-off industries.  We have an industrial park.  We have a very nice customer there that specializes in building horseshoes for race horses, and apparently they do quite well.

So for the first time in the 15 years I have been living there, I have seen signs up, horses for sale and horse ranches for sale.  I never saw it before.  So we are seeing a spin-off of losing industry.

We also have a very significant customer that built components for the windmill industry.  They built the towers.  They have closed.  They have locked their doors and walked away, another very large customer.

And just recently, another large customer in the one MBA range, a pharmaceutical industry, they've gone into receivership and shut down.

We're still seeing ongoing implications of the downturn in the economy.  It is hitting us.  The horse racing, in particular, is really troublesome for us, because it's been a big part of our seasonal population and the horse racing, the large facility at Fort Erie.

We are really very concerned about the impact.  And with this downturn in the economy, we don't know if our targets that were assigned based on historical numbers are attainable.  We feel we have no other choice but to go in and petition the Board and have our numbers reviewed.

We have had some preliminary conversations with Board Staff.  We haven't yet filed a formal petition.

For that reason, it is difficult to project where our CDM savings are really going to land.  And for that reason, I am very reluctant to say that 7-million-600 is our target, because I honestly don't know, and I don't think anyone does.

MR. HARPER:  You've talked about Fort Erie and we've talked about Gananoque, I guess.  Your targets are really comprised of a sum of different two areas?

MR. BRADBURY:  Yes.

MR. HARPER:  The first is Fort Erie and Gananoque, which is the one I used as an illustrative example.

The other one is Port Colborne.  Do you have similar concerns about the CDM targets that were assigned to Port Colborne?

MR. BRADBURY:  Obviously we have Jungbunzlauer making the decision to become a transmission-connected customer, and it is a right decision for that customer, the size that customer is right now and plans to become in the future.  It is a right decision for them.

It takes -- I don't remember the number, but it takes with them, I think, nearly 20 percent of our throughput.  So it will -- and, you know, make that very difficult.

MR. HARPER:  So you would see including in whatever sort of conversations you plan on having or submissions you plan on making in the future to the Board regarding this issue, it would be addressing both Fort Erie and Gananoque service area, as well as the Port Colborne -- and the Port Colborne service area, as well?

MR. BRADBURY:  Yes.

MR. HARPER:  Okay.  I guess we're struggling within the context of this application, looking at sort of what do we -- you know, the Board's guidelines talk about including it in the load forecast, and then calculating the LRAM after the fact.

MR. BRADBURY:  That's why, in response to your question, you said -- not the entire context, but you said in reference to a paragraph in the Board's guidelines:  How do you plan to address that?

In our response, we said in the succeeding paragraph, it is possible to address future LRAM on actual program results, not having the forecast and the approved forecast as your bases, but to accept the fact that you look at the actual validated results of your savings and base LRAM on that.

MR. HARPER:  So that approach -- maybe I can put it in my words -- would be to basically sort of have sort of a forecast that there is a common agreement upon includes no CDM savings, and then basically the LRAM, then, any LRAM calculated, say, for 2013 and beyond would be based on -- would basically capture all the validated savings, since this were none in the load forecast.

Is that effectively --


MR. BRADBURY:  That's effectively what I'm saying.

MR. HARPER:  I just wanted to understand --


MR. BRADBURY:  Again, obviously from our point of view, it would be much simpler and much cleaner if we could follow the guidelines that are set there, but we are -- we have got, I think, very valid concerns with the targets being set on demand and throughput numbers that really no longer exist.

MR. HARPER:  Would you see -- maybe this is something for discussion next week -- but, you know, we've talked about -- would you see perhaps putting some nominal levels, like, not as much as the targets but some nominal levels reflective of, you know, in the -- in the forecast?

MR. BRADBURY:  Yes.

MR. HARPER:  And then truing up against those?  I am just putting that out as a thought.

MR. BRADBURY:  Yes.  I see the validity in what you are getting at, you know.

I can extrapolate from your questions, your interrogatories, where you're going.  And obviously that in 2011 and 2012, there are -- you know, we were successful to a certain degree in implementing CDM, and those numbers reflect -- I think, yes, we have to come to some agreement on how we accommodate our past performance to be reflected in the 2013 numbers.

And whether that is done in this proceeding here or in a subsequent proceeding during the IRM process of LRAM, I mean, that is a reality and we have to acknowledge that.

MR. HARPER:  To maybe help us in that consideration, I know as part of the interrogatory responses you provided us -- I guess it is the OPA's preliminary review on 2011, which tells us what you have achieved in 2011.

Do you have any preliminary reports from the OPA, say, on the first six months of 2012 yet?

MR. BRADBURY:  Well, I included with the response, I gave you the first three months.

MR. HARPER:  Oh, okay.  No, the three months.  I guess I was just wondering whether as time has gone on, you've gotten another --


MR. BRADBURY:  We have the March 31st numbers.  And we gave that to you voluntarily in response to your interrogatory.

MR. HARPER:  So you haven't gotten the second quarter results?

MR. BRADBURY:  We don't have the second quarter results.  We have sent back, saying:  You missed some of our project.  We would like you to look a little better than you painted us, but -- so yes, yes.  We will definitely make the most up-to-date numbers available to everyone.

MR. HARPER:  That's all I have on 3.3.

MS. ARMSTRONG:  Just as a quick follow-up on that, do I hear you correctly that you do intend to file for LRAM in future rates proceedings?

MR. BRADBURY:  Yes.

MS. ARMSTRONG:  Okay.

MR. BRADBURY:  That would be our desire, yes.  We have not in the past filed for LRAM, but -- we have never done it, for various reasons.

MS. ARMSTRONG:  Then the methodology question was my second one, but I think you answered Mr. Harper.

MR. BRADBURY:  Yes.  Well, the Board in their guidelines do provide an alternative methodology to the methodology that Mr. Harper pointed out in his IR.

There is a second, in the alternative, we'll say.

MS. ARMSTRONG:  Right.

MR. BRADBURY:  And I think at this point -- you know, there's a certain risk.  Obviously, if we were to take, say, the 7 million there, that elevates customer rates.  You know, that drives rates up.  That is upward pressure on rates.

MR. HARPER:  But what I was trying to ask through my questions and we didn't get an answer to was the 7 million is not the savings you're going to see in 2013.

MR. BRADBURY:  No, I don't think we are.

MR. HARPER:  No, but even without any of this loss of customers, even if the plan came to fruition as set out in this interrogatory response, that 7 million is the sum of the savings you have achieved in 2011, plus what you expect to achieve in 2012?

MR. BRADBURY:  Yes.

MR. HARPER:  Plus -- so actually, in doing the math, I believe based on that plan that you've got there -- and we've all acknowledged there is some difficulty with that now --


MR. BRADBURY:  Yes.

MR. HARPER:  -- I think the savings you would have expected to achieve in 2012 would have been in the order of, say, 3.9 --


MR. BRADBURY:  It would have been roughly 30 percent of that number.  We follow 10, 20, 30, 40, straight rule of forecasting.

MR. HARPER:  Fine.  I just wanted to make sure that --


MR. BRADBURY:  That's what we did here.  It is based on 10, 20, 30 rule, which will, on an accumulated basis, roughly, account for somewhere between 90 and 100 percent of your savings.

MR. HARPER:  Okay.  Thanks.

MS. ARMSTRONG:  Thanks.
ISSUE 3.4


MS. DJURDJEVIC:  So on issue 3.4, I believe there are some questions from VECC and from Staff.

So we will start with you, Mr. Harper.
Questions by Mr. Harper:


MR. HARPER:  Yes.  I just had one.  If you could turn up the response under 3.4 to Energy Probe 38?  This is dealing with the sources of other operating revenue.  I am looking at the table, actually, in the response to part d).

And sort of on the right-hand side of that table, you've got actual year-to-date numbers for 2011 to June, and comparative to actual year-to-date numbers for 2012 to the end of June.

And I guess what jumped out at me was the fact -- if I look for rent for electric property, the actuals for 2012 for the first six months are significantly higher than those for the first six months of 2011, and I guess I was just wondering:  Would you expect that trend to continue such that the actual annual results for rents from electric property for 2012 would actually be higher than they were in 2011, by somewhat of a similar sort of proportion or factors?  Or is there something else going on there that we're missing just in looking at those numbers?

MR. KING:  I would expect their -- Scott turned it off on me.

It is just a timing issue with respect to getting bills out in the accounting department.  I would expect we will come in at, for the full year, of 230, a range for '12 and '13 as we had forecasted there.

MR. HARPER:  I guess the same to a lesser extent applies to the account 4220, "other electric revenues," where the actual to June 2011 was about $1,500 and the actual to June 2012 is about $15,000.

And again, I was just wondering, like -- actually that actual to June 2012 is more than double your forecast for 2013 in total.  I guess I was just wondering whether there was something going on unique in 2012, or whether this brings into question that -- or you might want to think about revising your 2013 forecast in this area.

MR. KING:  Yes.  I'm not familiar what is driving that $8,000 increase, but I will look into it myself and determine whether or not I want to revise the forecast.

Does that answer your question?  I don't think there is any one item.  It might be just an account classification type of thing.

MR. HARPER:  It just jumped out at me.

MR. KING:  Yes.  I see it right now, yes.

MS. DJURDJEVIC:  Do we need an undertaking for this?

MR. HARPER:  Well, actually -- well, actually, that might be the easy way to do it.  Either that or I will start you at the start of next week when the ADR starts in terms of what did you find out, sort of thing.


MS. DJURDJEVIC:  So KT1.4.  Mr. Harper, if you could restate the question?

MR. HARPER:  Yes.  Just sort of get an explanation as to the reason for the significant increase in other electric revenues for the first six months of 2012 and whether that means there should be any update to the forecast for 2013.

MR. KING:  Correct.
UNDERTAKING NO. KT1.4:  TO PROVIDE EXPLANATION AS TO SIGNIFICANT INCREASE IN OTHER ELECTRIC REVENUES FOR FIRST SIX MONTHS OF 2012 AND, IF SO, WHETHER THERE SHOULD BE AN UPDATE TO 2013 FORECAST.

MS. DJURDJEVIC:  Thank you.

MR. HARPER:  That's all I had on 3.4.
Questions by Ms. Armstrong:

MS. ARMSTRONG:  Same questions, so they're answered.

I was wondering about account 4360, as well, on that table, where you're forecasting no gains or losses and the year-to-date are already showing $17,304.

MR. KING:  So your question is:  What does the loss represent?

MS. ARMSTRONG:  Well, I was wondering if the table needs to be updated to account for that or if you will continue forecasting zero gains or losses in that account?

MR. KING:  Traditionally we've always forecasted zero gains and losses, because it goes both ways, and we have no solid way of knowing what will happen with respect to, you know, generally sale of vehicles or maybe some scrap or anything.

So we have a challenge trying to forecast that.  So, thus, we haven't forecasted it.  I can determine what that $17,000 is, but it still remains that account should be zero on a forecast basis.  That is always what we have done.

MS. ARMSTRONG:  I realize that.  However, I've noticed that you are making considerable investments in vehicles this year.  I am assuming there is some salvage value in the vehicles you are going to get rid of.

I also see a continuous trend of gains.  I understand those are gains?

MR. KING:  Yes.

MS. ARMSTRONG:  So I would expect to see some gains this year, especially this year, and for 2013.

MR. KING:  Also, you know, there is also foreign exchange gains and losses that we have experienced in the past that we also have not forecasted for.  So it sort of goes both ways with gains and losses.

So what are you asking me to do?  You want me to...  I stick by the forecast, that there is no gains or losses, type of thing.

MS. ARMSTRONG:  Okay.

MR. KING:  But if you want me to show you precisely what makes up the $17,000 in gains and losses for the year, I can give you that number, as well.  If you want me to undertake to do that, I can.  I appreciate what you're saying.  I hear you.

MS. ARMSTRONG:  The make-up doesn't really concern me too much.  It is more the trend, that what we are seeing is continuous gains, and my concern is that you are investing a lot in vehicles this year.

I am assuming there is some salvage value.  Therefore, I question a zero forecast.

MR. KING:  Yes.  And this year, but maybe not the next three years, so you would take a quarter of that or something.  But in any event, I will have a look at it.

MS. ARMSTRONG:  Okay.

MS. DJURDJEVIC:  Could we sort of add to that -- could we phrase that undertaking as -- to make an effort or a best effort to estimate any expected gains from the disposition of assets; namely, the salvage value of vehicles that will be replaced, and other items.

MR. KING:  Yes, that's fair.

MS. DJURDJEVIC:  That will be KT1.5.
UNDERTAKING NO. KT1.5:  TO PROVIDE ESTIMATE OF ANY EXPECTED GAINS FROM THE DISPOSITION OF ASSETS, I.E., VEHICLES AND DETAILS ACCOUNT 4360, LOSS ON DISPOSITION UTILITY AND OTHER PROPERTY.

MR. KING:  Yes.

MR. RUBENSTEIN:  Actually, can I follow up on that?

MS. DJURDJEVIC:  Of course.

MR. RUBENSTEIN:  Can you break down, then, for 2009, 2010, 2011 the entries in that account, because, I mean, there will be some gains, some losses?

MR. KING:  So to clarify, account 4360, loss on disposition utility and other property, the details of that that go in there?

MR. RUBENSTEIN:  Yes.

MR. KING:  Okay, sure.

MS. DJURDJEVIC:  We will just include that as part of KT1.5.

MR. RUBENSTEIN:  That's fine.

MS. DJURDJEVIC:  Anything else?  That's good, then, for 3.4.

So moving on to issue 4.1, I believe Energy Probe had some clarification questions on this one, so back to you, Mr. Faye.

MR. KING:  Can I interrupt for one sec?  Sorry.  I know some of the people on this side are squiggling around in their chairs a little bit here.

MS. DJURDJEVIC:  By all means.  Let's take a break and come back at 11:15.

--- Recess taken at 10:57 a.m.

--- On resuming at 11:13 a.m.

MS. ARMSTRONG:  I think we can get started.  Ljuba will be joining us a little bit later again.

So if everybody's ready, I think, if it is agreeable to everybody, I was thinking we could maybe go until 1:00 o'clock and then take lunch break at 1:00 o'clock.  Would that be all right?  Okay.

So we will continue with operating costs, issue 4.1.  I believe Schools has some questions on that.
ISSUE 4.1

Questions by Mr. Rubenstein:


MR. RUBENSTEIN:  I do.  Can you turn up Energy Probe 41?  This is -- now I don't remember which...

Great.  Hold on a second.  I apologize.

Yes, so your answer to number b), it is talking about the collecting cost increase.  You state there are two reasons for that.  One is you now Express Post final collection notices, and, second, increase due to the labour associated with that, with collections activities.

So first, is it general practice -- are you aware if it is general practice to send final bills by Express Post?

MR. KING:  No, I'm not aware if it is general practice.  That's what we do.

MR. RUBENSTEIN:  The second question is the increased labour.  Is that with respect to that, or with that activity?  So sending by Express Post or some other thing?  Or is that just general salary increases, progression?

MR. KING:  It is probably a bit of both.

MR. RUBENSTEIN:  Okay.  Thank you.  That's all I have for 4.1 specifically.

MR. FAYE:  Our questions on 4.1 are mostly related to Energy Probe 54.

This one, I just want to understand how this probabilistic model or method that you use for predicting when distribution assets need to be replaced actually works.

Rather than tell you what I think you mean, why don't you tell me how it works?

MR. SHEOGOBIND:  Okay.  Let me try to expand on what we meant there.

I think this is probably a case where when we say "probabilistic techniques" it might be a little bit of a misnomer, because it probably sounds a bit more sophisticated than what we're actually doing.

You know, it is not that we have very sophisticated probability models, where we're applying to our equipment to try and predict when they're going to fail.

Really, what we're doing to try and predict when something is going to fail or when it is going to reach the end of its useful life is doing two things, which we mention in the bullets there.

We're looking at what is an industry standard practice, for example, for, you know, typically when a power transformer would fail.  But then what also feeds into those decisions is things like our field observations or distribution system inspections, going back to power transformers, things like our dissolved gas analysis, to help us to try and predict when we should be replacing major assets.

But in terms of the probabilistic techniques, it is not a case of where we've got a highly sophisticated probability model that we're applying.  In that sense, I have to say it is probably -- that term is probably a little bit of a misnomer.

MR. FAYE:  That's what I thought.  So just so I understand clearly, the way I understand what you're doing - and let's take pad-mounted distribution transformers as an example - you get some forecast from a manufacturer on how long that item ought to last?

MR. SHEOGOBIND:  Correct.

MR. FAYE:  And then you can construct an age class of all of the ones that fall into -- say it is 30 years.

MR. SHEOGOBIND:  Right.

MR. FAYE:  Then do you do some sort of random inspection to get an idea of how much -- how quickly those 30-year-olds are starting to deteriorate?  Just to confirm that the manufacturer's estimate is reasonable?

Or do you just take the 30-year age class and say:  Okay.  We're going to have to start replacing it?

MR. SHEOGOBIND:  No.  We don't do that, not in the case of distribution transformers.

I mean, typically the -- our overhead distribution transformers, typically that is run to failure.  That is the philosophy that we adopt there.

It is not a case of where we've got a proactive replacement program for overhead distribution cans, because it just doesn't make economic sense to do that.

Pad mounts is a little bit different, because the assets are, you know, somewhat more valuable than your overhead cans.

And we've got an estimate, you know, of how long we think a pad-mounted transformer is going to last, and typically that is anywhere between 30 to 40 years if it has been well constructed.

We don't do random inspections, but we do our distribution system inspections on a three-year cycle.  So once every three years, those -- each pad-mounted distribution transformer would be inspected.

So we're keeping track of the conditions of the assets, and then, based on that, you know, if that inspection, say, for instance it flags an issue with a specific transformer, like there's excessive rusting or something like that, then of course we would follow up with a more detailed inspection to see what is going on there.

And if it does need to be replaced, then we would do that.

The other thing we would do is cases like where we've got the underground subdivision upgrade programs like St. George's Court, for example, where we would do a planned change-out of a number of distribution transformers at the same time, because, you know, that's the most effective way to do that.  But again, those cases would be where those assets are well over 30 years old; they're in the 35-year age range.

So that's when we would do, like, a planned change-out of our pad-mount transformers.

And again, what comes to bear on that is the condition of those assets.  If we do have a 35-year-old asset out there and it is it in good condition, then we're not going to replace it because it is working quite well.

In the case of the couple of subdivision projects that we mentioned in evidence, St. George's Court and Dodd's   Court, in both those cases assets were, you know, approximately 35 years old, and there was visible deterioration of the assets.

MR. FAYE:  Would it be fair to say that for those kinds of systems, distribution and underground, that the entire system sort of degrades about the same speed as each component does, and when you do a replacement, you pretty much rebuild the entire system, distribution transport, pad-mounted transformers get replaced because the cable is being replaced; is that –-

MR. SHEOGOBIND:  That would be correct, because the assets were all installed at about the same time.  And that's typically been our experience, is that, you know, everything goes at about the same time, the transformers, the civil structures holding up the transformers, the underground cables.

And that's when we would do those mass change-outs like we did at St. George's court and at Dodd's Court, which we're planning to do this year.

MR. FAYE:  Then I think I do understand it, that your estimates of how much capital you're going to have to spend to replace plant, it is basically correlated with the age of the plant.  You are expecting it is going to fail around 35 or 40 years, so you put in your budget:  We're going to have to replace that, although maybe it is augmented with some inspections, just to confirm your suspicions?  Is that how your estimate is created for your capital budget?

MR. SHEOGOBIND:  It is a fair statement.  And, you know, we would start that estimating process a few years in advance, using our five-year capital forecasts.

Then of course as we get closer to the time when we think that those assets need to be replaced, that's when we would be doing more detailed investigations and assessments, to nail down the exact year when we would do that upgrade or change-out.

MR. FAYE:  Good.  That's all I have on that one, but another question on 4.1 is Energy Probe 57.

This one concerned what appeared to be a trend in underspending on OM&A.  And in response to our suggestion that there might have been an overcollection here, you note that if there had been an overcollection there, there would be an undercollection on revenue, and then you are exactly right, of course.

What sort of pops out is the figures match really good, that the amount that you overpredicted your revenue is pretty close to the amount that you underpredicted your OM&A -- or, I'm sorry, overpredicted your OM&A.

Can I infer from that that you are able to adjust your program by tracking revenue?  Can you cut down your OM&A expenses quarterly, say, just to make sure that you don't run out of money?

MR. KING:  No, no.  That is pure coincidental that the revenue forecast came in -- the revenue came in as it did and OM&A came in as it did, purely coincidental.  I haven't actually seen those numbers match -- I haven't tried to match up those numbers.

The OM&A, the decrease in 2009, were for specific reasons as given in interrogatories, nothing to do with us trying to turn off and turn on OM&A costs.

MR. FAYE:  Okay, that's all of the questions that I have on 4.1.

MS. ARMSTRONG:  Mr. Harper, anything?

MR. HARPER:  No.
Questions by Ms. Armstrong:


MS. ARMSTRONG:  Okay.  My question refers to Board Staff 32.  This community safety program, you stated here that the $7,000 was allocated in the wrong account and it should have really been in account 5420 for community safety.

Now, when I look at the tables, appendix 2-F, that you filed in response to Board Staff Interrogatory No. 25, I noticed that there is already a budget of $4,200 for community safety programs budgeted.

So I was just a little bit unclear of how much is the program and what is actually being forecasted, and will these tables be adjusted to correct that.


MR. KING:  Yes.  The amount that is being forecasted is, indeed, the 7,000 that was inappropriately put in account, reading sideways here, 5425, and that 7,000 should be in 5420, plus the 4,200 that is already there.  So that would be $11,200.

MS. ARMSTRONG:  Okay, thank you.  Is that what the -- is that the cost of the program?

MR. KING:  Yes, it is.

MS. ARMSTRONG:  Okay, good.  The next question would be Board Staff Interrogatory No. 34.

And if you go down a bit, I am curious, because you're talking about incremental smart meter network costs that amount to about $25,000 -- $125,000, sorry, which is comparable to the increase of 139,792 in total distribution maintenance costs for the 2009 Board approved.

I was just wondering why the new smart meter program requires such an incremental operational expenditure.

MR. SHEOGOBIND:  The reason for that is because there are O&M costs associated with operating the smart meter network.

Basically, we own the communications infrastructure in our service territories that collects data from the smart meters, and then transmits that to the MDMR.

The contractual agreement that we have with our AMI service provider, which is Sensus, is that Sensus owns the centralized computer, which is a large mainframe computer that is located in a basement somewhere in Toronto, that collects data from all of the collectors in our service territories.

And they operate that on our behalf under a lease agreement, and that's where the O&M costs come in.  And there are a couple of components to those O&M costs, which is why you saw the step increases over a couple of years, because there's fixed components to those costs, which is basically the maintenance costs for the collectors in the service territories, the regional collectors.  But then we're also charged variable costs, which is a per-meter cost.

Again, the reason that you saw incremental increases over the last couple of years is because Sensus only started -- they only charge us when a meter is actually communicating with their system.  So that's why, as we deployed more meters, then we started incurring more costs.

MS. ARMSTRONG:  Mm-hm.

MR. SHEOGOBIND:  But that's the reason why, with implementing smart meters, there are O&M costs associated with operating the network.

MS. ARMSTRONG:  On the other hand, are you finding any efficiency gains to the smart meters that would be offset in other OM&A costs?

MR. SHEOGOBIND:  We did talk about that in evidence and in interrogatories, because what we found is that we've been able to offset our meter reading costs by utilizing our smart meters to collect billing data.

So what that allowed us to do is to reduce our manual meter reading costs, which before was primarily contractual based with a contractor going out and reading meters.  So there have been offsetting costs, and I think we talked about it in the section where we filed for the smart meter disposition, where what CNPI has requested is only incremental smart meter O&M costs.

So what we've done is we've taken those -- the AMI O&M costs, but then we subtracted our savings for meter reading costs.  So what we're asking for in terms of disposition is only those incremental costs.

So I guess to answer your question, yes, we have seen efficiencies.

MS. ARMSTRONG:  Okay.  You also talk about increased oversight of the maintenance programs.  Can you talk a little bit further to that?

MR. SHEOGOBIND:  Yes, sure.  What we've done over the last several years is we've seen a need to really have more systematic maintenance programs, and one of the things we have mentioned somewhere in evidence is that we've seen, you know, fewer instances of reactive maintenance being required, which was part of the reason we saw a decrease in costs.

But what comes along with that is that now we're trying to be more proactive with our maintenance programs, with things like, you know, our switch maintenance programs, or infrared scanning, for example, or distribution system inspection programs or vegetation management programs.

And we think that is bringing about benefits to us in terms of our operation, and it is reflected in our reliability numbers, for example.  When you look at our reliability numbers and the improvements that have been made there, I mean, one aspect of that is the capital investment, but the other aspect of it we think is our maintenance programs and the fact that we are focussing more systematically on our maintenance programs.

But then that does bring about a requirement, from a supervisory perspective, that somebody has to oversee those programs, and that is why those costs are being incurred.

MS. ARMSTRONG:  I am assuming the question for Port Colborne are exactly the same?

MR. SHEOGOBIND:  Yes, because we operate on the same basis.

MS. ARMSTRONG:  Okay.  My next question is Board Staff No. 35.  I believe you are just missing the table of the vegetation costs -- oh, no.

MR. SHEOGOBIND:  It is on page 2.

MS. ARMSTRONG:  Yes.  I don't know.  I must have...

MR. SHEOGOBIND:  You know what?  I think you're right.  In the printed copy, it actually appears a few pages further on.

MS. ARMSTRONG:  Yes, because I was going from the print copy and I don't think it was in the print version.

MR. SHEOGOBIND:  That is an error on our part.  The table appears a few pages further on.

MR. KING:  This?

MR. SHEOGOBIND:  Yes.

MS. ARMSTRONG:  There were two, though, I believe one for Port Colborne and one for Fort Erie.  The printed copy for Fort Erie was missing, but that's fine.  It is in the electronic copy; that's fine.

MR. KING:  Yes.

MR. SHEOGOBIND:  That is Fort Erie and Gananoque.

MR. KING:  That's Fort Erie and Gananoque.

MS. ARMSTRONG:  But that's okay.  If it's in the electronic copy here, that's not a problem.

MR. SHEOGOBIND:  Yes, it is in the electronic copy.  I think it is just when we printed it off, we ended up transposing a couple of pages.

MS. ARMSTRONG:  That's it for Issue 4.1.

Going on to Issue 4.2, I believe Energy Probe has some questions.

MR. FAYE:  No, we don't.

MR. HARPER:  No.

MS. ARMSTRONG:  Schools?  No?

I believe there are no questions for 4.3, 4.4, 4.5.  4.6.  Nobody?
ISSUE 4.2

Questions by Ms. Armstrong:


I was just wondering about the apprentice co-op tax credits; are you including those in your forecast?

MR. SHEOGOBIND:  Sorry, I didn't understand.

MS. ARMSTRONG:  Board staff IR No. 43 and 44.  This is 4.6 and 4.7.

MR. KING:  Just one second.  We're checking there.

Apparently, we have included an estimated amount of $4,000 for each year.

MS. ARMSTRONG:  Okay.  Thanks.

Issue 4.8, did Schools have any questions on that?

MR. RUBENSTEIN:  4.8?

MS. ARMSTRONG:  Yes.
ISSUE 4.8

Questions by Mr. Rubenstein:


MR. RUBENSTEIN:  So I have a few questions on 4.8.

The first one would be SEC 17, 17 and 18, sort of a question about both.  It is just with respect to the operating technician.

You said the incumbent is set to -- is eligible for retirement in September of 2012.  So the simple question is:  Has he indicated that he will be retiring?  If not -- has there been any indication?

MR. SHEOGOBIND:  At this point in time, no, the incumbent has not indicated to us specifically that he will be retiring.

And it is always difficult in these instances to try to predict exactly when someone will retire, because people don't always retire on the date when they're eligible to go.  And some people are good enough that they will tell us six months in advance that:  I'm definitely going to be retiring on this date.  We've had instances where one gentleman gave us two weeks' notice that he was going to be retiring, six months before the date he was going to be -- before he was eligible.

So, you know, you could have all kinds of things like that happening, so it is very difficult to predict.

I think this is a situation where we know that the gentleman will be retiring in the short to medium term, and then there is a requirement to have someone being able to succeed to that position.

But I think one thing that is pertinent to mention here is, you know, the operations technician role - and this was a job classification that we specifically created - I think it was about three or fear years ago.  Sorry, I don't remember the exact time frame, but this was in response to what we perceived to be -- in operations, we had buckets or silos of people with very specific capabilities.

For example, we had our substation technicians who would do substation maintenance-type of work or substation construction.  And then we had a different silo where we had people who were protection and control technicians or SCADA technicians, which is the gentleman that we're talking about.

What we attempted to do with the operations technician position is we have tried to blur those roles so that people would be more all-round, have more all-round capabilities, so we're not stuck in the silo type of thing.

So looking a little further down the road, the reason we also need the operations technician is because we're also looking at these people not just as being SCADA technicians, but also as being substation technicians.

Right now, we are looking in our substation maintenance group; within the next three years, we are going to have several retirements.

So, you know, there is a need for us to fill the hopper, as it were, looking forward to down the road, in terms of the future retirements and the need to bring people up to speed so that we can have, you know, I guess, a systematic type of succession planning.

MR. RUBENSTEIN:  Roughly how many retirements have you had in the last four years?

MR. SHEOGOBIND:  You mean in that specific classification, or in general?

MR. RUBENSTEIN:  No, just in general.

MR. SHEOGOBIND:  I would have to think.

We've had two in the last couple of months.

Um... last year we had one of our system operators retire; that is the gentleman that only gave us the two weeks' notice.  So that caught us by surprise.

MR. HAWKES:  Plus we've had some resignations and early retirements.  I would have to -- the year-over-
year --


MR. RUBENSTEIN:  Just roughly.  I am just trying to get a sense of...

MR. SHEOGOBIND:  I would say six or seven over the last few years.

MR. RUBENSTEIN:  Would you undertake to provide for all of the retirements since the last rebasing application, when they were retired compared to their eligibility retirement date?

MR. SHEOGOBIND:  In most cases -- yes, well I guess when we say "eligibility" or when I say "eligibility date," I'm referring to the date when they could leave and basically have their full pension.  That is what I mean.

MR. RUBENSTEIN:  Yeah.  That's fine.  That's what I'm meaning, too.

MR. SHEOGOBIND:  Yeah, okay.  In most cases, people have departed when they're eligible to go, with their full pension.

MR. RUBENSTEIN:  So will you provide -- can you provide an undertaking?

MR. KING:  Yes, sure we will.

I guess I should also note those that are on the DC plan, and I'm not sure what their date is, but we will make note of that.

MR. RUBENSTEIN:  Sure.

MS. ARMSTRONG:  Undertaking KT1.6.
UNDERTAKING NO. KT1.6:  to PROVIDE LIST OF ALL RETIREMENTS AND COMPARISON BETWEEN THE ELIGIBILITY DATES AND ACTUAL RETIREMENT DATES, SINCE LAST REBASING APPLICATION.

MS. ARMSTRONG:  Can you please restate the question?

MR. RUBENSTEIN:  Since the last rebasing application, can you provide a list all the retirements and a comparison between the eligibility dates and their actual retirement.

You don't need to specify the actual people's names or anything, to be clear.

My second question is actually on SEC 16, and it actually was not a typo, and I want to know if you can provide a break -- in essence, the 2K form, and a breakdown between comparing your Fort Erie and your Port Colborne service territories with your EOP.

So for background, I mean, in essence while they're different service territories, you use, from what I understand, many of the same people -- you know, linesmen or whatever -- in your Port Colborne you're using with Fort Erie; am I correct?  Whereas clearly in Gananoque, it would be that's not the case.

So I wanted to -- if you can provide sort of a breakdown between those operational service territories to some degree.

MR. HAWKES:  All right.  I guess just to talk about 2K, for example, for a minute.

MR. RUBENSTEIN:  Sure.

MR. HAWKES:  When we filed the application, we prepared it, you know, in advance of the May filing, and we were of two thoughts.

We could either file this based on the total actual headcount for Canadian Niagara Power -- and Canadian Niagara Power has a number of business units -- or we could file it based on the allocations as set out in the BDR report.

So when we filed in May, we filed on the basis of total headcount, being of the view that we could provide a picture, if you will, of what was happening with compensation on an aggregate basis.

When we responded to the IRs, OEB asked us to refile 2K based on the allocations in the BDR methodology.  So in response to OEB IR -- I think it is OEB - let me find it now - OEB IR 45, we re-prepared or re-did the appendix 2-K and filed three versions.

We filed one which was an aggregate - these are all now on an allocated basis using BDR - for Fort Erie, EOP and Port Colborne.  We filed one based on Fort Erie and EOP, and we filed a third one for Fort Erie and Port Colborne.

We did not file one -- we did not prepare one for Fort Erie and Port Colborne.

So if I could try to answer the question you've got, I would like to try to do it with what we've prepared, but we didn't prepare one for that.

MR. RUBENSTEIN:  Is it possible to do that?

MR. HAWKES:  It was quite an exercise to do that.  If you have questions, I would like to try to answer them.

I mean, for example, you just asked about those positions, the 6.75.  That was based on the 2K that we filed with the application, in which there was an increase of 6.75 FTEs.

If we look now on what we filed in response to the OEB, on an aggregate basis over the four-year period, there have been an increase of only two FTEs.

MR. RUBENSTEIN:  Yes.  I mean, the picture I am trying to draw is just to get an understanding between the two service territories, because -- or what I am calling operational service territories.

MR. HAWKES:  Yes.

MR. RUBENSTEIN:  Just getting a picture between the two, not necessarily on an FTE basis.  I mean, that is one way, but also sort of the compensation between how those sort of things compare.

Then if your point is you can't do it, or it is just, you know --


MR. HAWKES:  I guess what I'm trying to say is if you have questions about it, we probably -- I hope we have answered it in the refiled versions, and whether we can extract an average salary or, you know, a compensation figure, we should be able to do it based on what we've got in front of us.

MR. RUBENSTEIN:  But the problem with what you
filed --


MR. HAWKES:  Yes.

MR. RUBENSTEIN:  -- is that it is both Fort Erie and EOP.

MR. HAWKES:  That's correct.

MR. KING:  Just to add, though, if you think about Gananoque, there are, I don't know, five linemen there.  So if you want the average wages for the five linemen, we can give you those and compare those against those that work in the Niagara region.  That's fair.

The allocation of back office, well, that would be all the same.  That would be the accounting -- it would be the same numbers.

MR. RUBENSTEIN:  That's fine.  If you can do that?

MR. KING:  Yes.  If you want the average for the linemen, because that is really all that is there.  You know, so we can give you the average salaries for the linemen versus the average salaries for -- or, you know, the outside employees that work there.

MR. RUBENSTEIN:  Sure.  If you can do the breakdown the way the 2K does the break down, so salary, benefits, all of those sort of things.  It separates them out.

MR. KING:  If you're saying just for the linemen, we can do it for that, but it will be a challenge to break it out by the back office and all of that.

MR. RUBENSTEIN:  I'm not looking at the back office.

MR. KING:  Just the outside workers?

MR. RUBENSTEIN:  Yes, the ones that are only located there and --


MR. KING:  Physically there?

MR. RUBENSTEIN:  Yes.

MR. HAWKES:  I don't think we could do all of it.  I think we could compare line rates.

MR. BRADBURY:  Under the methodology that underlies what we call the BDR report, you can't separate the underlying costs of Fort Erie and Gananoque, because they are harmonized.

And the way in which the model is built to develop the allocations and the various allocators of all of the accounts, you can't go back and take that apart.

So from calculating all of the various allocations that go into the model and decide, you know, what costs go into each area, they can't be taken apart at the Fort Erie/Gananoque level.

MR. RUBENSTEIN:  But you know the people?

MR. BRADBURY:  I think Glenn said, yes, you could do it.

But if you wanted the underlying costs -- say, for instance me.  Like, I work in Gananoque, some portion of me.  I occupy the Fort Erie office.  So all of my costs that I attract by occupying that office follows me to Gananoque.  That's the same principle as all of the various functionalities.

So what I'm saying is you can separate Port Colborne, because we do that separately.  You can't separate Fort Erie and Gananoque.  They can't come apart.

MR. RUBENSTEIN:  But you're back office.  Let's talk about just positions that are not --


MR. HAWKES:  Those costs are also combined.

MR. BRADBURY:  Say, for instance, snow clearing.  So the linemen occupy the Fort Erie office.  So snow clearing costs, keeping the snow off the parking lot at Fort Erie, it gets attracted to the linemen and -- it is very hard to explain.  Like, all maintenance costs of the building, the air-conditioning or anything, it is attracted by person, and then allocated through a methodology.

So I think realistically, the only clean number we can give you really is the actual contract rates so you can compare what one lineman is paid, because it is a very intricate model that is built up from base costs, and in order to separate the costs, Fort Erie and Gananoque costs, I would have to go back or someone would have to go back to the individual accounts, and then we're making assumptions.

MR. RUBENSTEIN:  I think now you are thinking I am asking for something a lot more complicated.

I was fine with sort of a few steps back when you could sort of compare the -- you know, the linemen re linemen.

My only point was, sort of on the 2K form, you know, it breaks down benefits and all of those sort of things, if you can do that - if you can do that.   If you can't, that's fine.

MR. HAWKES:  I think we could undertake to provide a comparison of the linemen rates in both Fort Erie and Gananoque, but to get into the 2K would not be something that would be easily producible.

MR. RUBENSTEIN:  Okay.

MR. HAWKES:  And the rest of the benefits.

MR. RUBENSTEIN:  I am fine with that.

MS. ARMSTRONG:  Undertaking KT1.7, comparison of linemen rates between Gananoque and Fort Erie.
UNDERTAKING NO. KT1.7:  TO PROVIDE COMPARISON OF LINEMEN RATES BETWEEN GANANOQUE AND FORT ERIE.

MR. RUBENSTEIN:  So my last question is SEC 15.  So two parts.  First, it is now past August 1st, so I assume you have the agreement.  This is the Fort Erie/Port Colborne --


MR. HAWKES:  The Fort Erie collective agreement has been ratified by its membership, and in evidence in response to IR 43, which was Energy Probe, the rates -- this is for Fort Erie for the IBW for the next -- it is a four-year contract -- are 2.8, 2.93 and 3.1.

We are currently in negotiations with the IBW in Gananoque.  In fact, we're having a meeting today.  We do not have a collective agreement, a paper copy, either, available for production.

MR. RUBENSTEIN:  Okay.

MR. HAWKES:  But we do have the rates for Fort Erie.

MR. RUBENSTEIN:  So two things.  Well, can you provide us the old agreements?  I mean, there is more in the agreements than just salary rates.

[Mr. Hawkes and Mr. Taylor confer]

MR. TAYLOR:  Can we discuss this and get back to you after the break?

MR. RUBENSTEIN:  Sure, yes.  That is all I have on 4.8.
Questions by Ms. Armstrong:

MS. ARMSTRONG:  Staff has a question.  The reference actually goes back to the application, Exhibit 1, tab 3, schedule 1, page 1, the audited financial statements, note 4, on page 9.

MR. TAYLOR:  Do you have an IR reference for that?

MS. ARMSTRONG:  No.

MR. TAYLOR:  No?  Okay.

MS. ARMSTRONG:  It is Exhibit 1, tab 1, schedule 1, page 1, the audited financial statements, note 4 on page 9.

MR. KING:  Okay.  I'm there.

MS. ARMSTRONG:  Okay.  This shows that CNPI has actuarial losses of 753K, pension benefit plan, 413K, and other retirement plan, 340K, and a total of unamortized losses of 3.617 million.

MR. KING:  Can you slow down?  I never got the first number.  I got on the page.

So actuarial losses of -- start there, sorry.

MS. ARMSTRONG:  Actuarial losses of 753K.

MR. KING:  Where are you seeing that from?  Sorry.  753K, actuarial losses?

I have actuarial losses of -- in 2011 on our pension plan of $413,000.

MS. ARMSTRONG:  If you can just give me a minute.

MR. KING:  Yes.

MS. ARMSTRONG:  Actually, the question I am actually trying to ask is what your regulatory accounting treatment for the losses that you are showing is.

MR. KING:  The regulatory accounting treatment of the losses?

Well, I don't think our regulatory accounting treatment is any different than our GAAP accounting treatment of those losses.  You know, they're not recognized on our books.

The rate application would include the pension expense and OPEB expense as forecasted by the actuary, but the losses, you know, these -- the pension, the DB pension plan is in a deficit position, but that is regular GAAP treatment of that.  And the revenue requirement would include the pension expense and the OPEB expense associated with that.

MS. ARMSTRONG:  Okay.  Thank you.
ISSUE 6


The next issue we have would be the smart meter issue.  Do any of the parties have any questions?

MR. HARPER:  No.
Questions by Ms. Armstrong:


MS. ARMSTRONG:  There is just one from Board Staff.

I was wondering if you can explain the relatively higher capital costs for Gananoque's smart meters, as compared to Fort Erie, as well as Port Colborne.

MR. SHEOGOBIND:  Sorry, is there a reference for either interrogatory, or evidence that I could look at?

 I assume your reference is table 6.4, and we're locking at total capital costs for smart meter installed; is that the one?

MS. ARMSTRONG:  Yes.

MR. SHEOGOBIND:  Okay.  There's a couple of reasons for that -- or I guess the primary reason for that is because the service territory of Gananoque is relatively small compared to Fort Erie and Port Colborne, in terms of customer base.

And then when we look at the capital costs for the smart meter program, there is a couple of drivers or a couple of components in those costs.

One is the smart meters themselves, and of course the per-unit cost per smart meter is the same across service territories.  So, you know, that's almost directly related to how many customers are in the service territory.

But a huge part of the cost, also, is the cost of the communications infrastructure, which is the cost of the collectors that are required to collect data from the smart meters, and it is the kind of thing where you need a certain base amount of infrastructure in order to collect data from smart meters, and that's a fairly significant cost.  And the issue that you will find with a small territory like Gananoque, where those costs are being spread out over a smaller number of customers -- because it is only being spread over something like 3,500 customers, as opposed to Fort Erie where those costs are being spread over 15,000 customers.

So that's one of the main reasons for those differences in per-customer cost between Fort Erie and EOP.

You know, for example, we had -- we refer to them as towers; these are the regional collectors that collect data from the smart meters.  So we had one tower in Fort Erie, one in Port Colborne, and one in Gananoque.

But the costs of those towers is pretty large.  It is like, you know, $150,000-plus.  So those costs, then, when you look at it on a per-customer basis, that's why the costs in Gananoque are so much higher, just because the customer base is so much lower.

And then the other factor in Gananoque, as well, is that we needed additional infrastructure aside from the main tower, because of such a large service territory in Gananoque that we needed smaller repeaters in the rural areas, and that also added to the capital costs.

MS. ARMSTRONG:  Good.  Thank you.  I don't know how the rest of the parties feel, but I think before we go into the cost allocation issue, which is our next issue coming up, maybe it would be a good time to take lunch now, before we get into the rate harmonization cost allocation rate design issue.

Does everybody agree?  Or would parties like to go on and go directly into that right now?

MR. KING:  Do you have a full stomach?

[Laughter]


MR. KING:  Whatever works for you, we're okay with.

MS. ARMSTRONG:  Then I suggest we will take a one-hour lunch break until 1:00 o'clock and reconvene then.  Thank you.

--- Luncheon recess taken at 12:01 p.m.

--- On resuming at 1:08 p.m.

MS. DJURDJEVIC:  Why don't we resume?

MR. HARPER:  Something somebody says may spark a bulb or something, you know.

MR. RUBENSTEIN:  So I had a discussion with Andrew, and this is with respect to the collective agreements.  And the undertaking that they're going to provide will be - it is on the record - the EOP most recent collective agreement and the old -- or old Fort Erie/Port Colborne collective agreement.

MR. HAWKES:  Yes.

MR. RUBENSTEIN:  The one previous to the one that was just agreed to.

MR. HAWKES:  The most recently expired agreements.

MR. RUBENSTEIN:  Yes.

MR. HAWKES:  One is definitely expired and one is about to expire or has expired.  We have copies of both of those that we can provide to you.

MS. DJURDJEVIC:  That will be undertaking KT1.8.
UNDERTAKING NO. KT1.8:  TO PROVIDE EOP's MOST RECENT COLLECTIVE AGREEMENT AND OLD FORT ERIE/PORT COLBORNE COLLECTIVE AGREEMENT.
ISSUE 7.1

MS. DJURDJEVIC:  Okay.  If I understand, we left off starting -- starting at issue number 7, cost allocation.  With respect to the first sub-issue, 7.1, I do believe that VECC, Schools and Board Staff had questions, so we will start with Mr. Harper on that one.
Questions by Mr. Harper:


MR. HARPER:  Okay.  Actually, if you could turn up the response to VECC 14?  And I'm not sure too sure how we did this.  It under issue 6.1, but it should have been issue 7.1, if you are trying to find it on the electronic copy there, VECC No. 14.

Here we'd asked for a schedule that -- this issue 7.1 deals with the cost allocation for Fort Erie and Gananoque, and here we'd asked for a comparison of the weighting factors that were used for both services and billing and collecting between the last cost allocation, which was 2009, and your current one, which is 2013.

And you provided a response here.  The first thing I wanted to clarify -- I'm jumping around a bit between issues, I realize, but these weighting factors, were these same weighting factors applied to Port Colborne, as well as Fort Erie and Gananoque?

MR. BRADBURY:  Yes.  The same weighting factors apply to all three.

MR. HARPER:  Okay, I just wanted to make sure.

The second thing was, basically, how did you come about deriving or concluding or coming up with the new weighting factors, say, for services as opposed to the -- I guess the previous one were the Board's default factors.

MR. BRADBURY:  In this particular case, we went back and -- taking residential as a one, for instance.  So we looked at each residential service as, you know, the amount of water, type of water, the cost, the connectors thing, and then we gauged the rest from there.

So the biggest change, I guess, really is -- in magnitude, I suppose, is street lighting.  And, for instance, street lighting, when we go back and actually look at our records and talk to the operations folks, very few street lights actually have service-dedicated products.  In most cases, just the tail comes out of the street light to connect it right to existing secondary.

So we went through basically a function of what material is used for each service, how long it takes to install it, the relative costs of the wire.  For instance, a residential service wire is less expensive than a general service less than 50 wire, for instance.

Those are the outcomes of those deliberations and that exercise.

MR. HARPER:  Because I noticed you said the street lights changed; it dropped by about 60 percent.

MR. BRADBURY:  Yes.

MR. HARPER:  I guess about the same 60 percent drop applies to the GS greater than 50 class, as well?

MR. BRADBURY:  Yes.  In the GS greater than 50 class, one of the things that was -- I don't know if overlooked in the original application, but it is the number of customers that are actually using services or providing their own service connection, and, as of late, it is more common to see them providing their own service connection assets than for us to provide them.

MR. HARPER:  Okay.  I guess on the billing and collecting, did you go through a similar sort of internal review of the --


MR. BRADBURY:  We did.  It was mostly an interview -- in this particular one, it was more of an interview process with some of our senior customer service clerks.  And one of the things that was somewhat enlightening in the discussion was the amount of effort that's being expended, on a customer service point of view, from a billing and collecting on our larger customers, the GS greater than 50 customers.  That goes back to a lot discussion on, you know, the rate structures, the global adjustment, and they find they're spending a lot of time dealing with GS greater than 50 customers.

If you try to look at it on a per customer basis, a relative -- compare it from a relative residential call to a GS 50 call, they say, no, you can get a residential customer -- deal with their question in a matter of minutes, and quite often in greater than 50 customer they may be dealing with an hour, half a day, faxing out information, this type of thing.

MR. HARPER:  So when this gets applied to billing and collecting accounts, which would be accounts for doing the collections and the billing, you also include in the accounts these weight or factors to sort of your customer services accounts, too, because it sounds like you're doing -- what you were just talking about were things like call, call centre activities, it sounds like.

MR. BRADBURY:  That is one aspect of it, but I'm trying to relate how we went down and more or less talked about the relative effort.

There's also costs associated with -- like, if you want to break out the relative costs of billing or collecting a GS greater than 50 as compared to a residential customer, the residential customer, basically, we're seeing files imported and almost going through seamlessly, but still in the GS greater than 50 customer we're seeing more intervention and more manual effort.

So the effort in actually producing a bill is greater, as well.

MR. HARPER:  Okay, thanks.

The other question I had under issue 7.1 dealt with your response to VECC 15.  Again, this one is under issue 7.1 in the IR responses.

And in 15b), actually, we had been asking you about meter capital costs and the costs of smart meters, and you indicated in response to part b) that you were rerunning and filing an updated cost allocation for Fort Erie and Gananoque, and actually I believe you, also -- and I believe there was a copy of that filed.

That file had an August date on it, if I am not mistaken.

MR. BRADBURY:  Yes.  We ran both models, Fort Erie and the Port Colborne one.

MR. HARPER:  What I was curious about was, in the June original filing, the number of meters for residential and GS less than 50 exactly equal the number of customers in the Elenchus report.  You know, fine.

When I looked at this particular file and I looked at the number of meters that was attributed to -- totals attributed to residential and general service less than 50, in both cases it did not match up with your forecast customer account.  In fact, in both cases it was less than your forecast customer account, which was basically a change from the previous cost allocation filing.  I was just wondering why that occurred.

MR. BRADBURY:  That was a mistake on my part.  In order to get the information that you requested to tie it directly to the cost of smart metering effort, I inadvertently grabbed the meter numbers, which tied to the smart meter and not my forecast.  That was an error.  I would have to go back and put my forecast --


MR. HARPER:  I'm not asking you to do that at this point in time.

MR. BRADBURY:  I don't know that it would be material at all, but that is what happened.  I asked one of the people working for me to get the smart meter costs and supply it to the consultant, and inadvertently grabbed the meter and -- the number of smart meters that were installed as opposed to our forecasted customer numbers.

MR. HARPER:  If you don't mind me -- actually, I had a very similar question on 7.2, and if we could wrap that up now while we are in the same place?  I notice the same thing on the Port Colborne file.

You know, it didn't equal the number of customers and, again, it was exactly the same issue there?

MR. BRADBURY:  Exactly the same thing.  If you look at our smart meter evidence, you will see the numbers don't match there.  They didn't --


MR. HARPER:  Fine.  That's all I have on issue 7.1.

MS. DJURDJEVIC:  I think Schools possibly had some questions on that issue, as well.

MR. RUBENSTEIN:  No, not anymore.

MS. DJURDJEVIC:  Board Staff?
Questions by Ms. Armstrong:


MS. ARMSTRONG:  Going to the meter question, slightly different, to capital cost of meters, we noticed in the combined cost allocation model that you provided on sheet I7.1, you have installed capital meter costs considerably higher than the typical meter costs.

In particular, a certain number of residential meters have a cost of $770, and a certain number of GS less than 50 meters have a cost of $1,900.

Can you please describe the rationale for these meters and what their function is within the smart meter system?

MR. BRADBURY:  I can't say with all certainty, but I know not all meters are the same.  There are some network meters that are residential meters for the apartment complexes and the GS less than 50.

Like, if you have a strip mall, and you have a different style of meter, some of those meters were different costs, but I don't have the evidence in front of me right now that could tell me what meter costs what, but I do know they're not all the same costs.

MS. ARMSTRONG:  Would you undertake, in giving us a breakdown?

MR. BRADBURY:  Breakdown of the individual meter costs, or the style of meter?

MS. ARMSTRONG:  Yes.

MR. BRADBURY:  I think I could do that.

MS. DJURDJEVIC:  That will be Undertaking KT1.9.
UNDERTAKING NO. KT1.9:  to PROVIDE BREAKDOWN OF INDIVIDUAL METER COSTS BY TYPE OF METER, AND EXPLAIN WHY THESE METERS ARE IN A SINGLE CLASS, AS DISTINCT FROM BEING ALLOCATED ACROSS SEVERAL CLASSES

MS. ARMSTRONG:  And then can you -- I don't know if you can do this now or if you do it as part of the undertaking, if you can please explain why these meters are found in a single class, as distinct from being allocated across several classes.

MR. BRADBURY:  Okay.  That would be the same undertaking.

MS. ARMSTRONG:  Yes.

And then another question under this issue relates to street lighting customers also, the combined cost allocation model.

We have 53 street light customers in the combined model; is that correct?

MR. BRADBURY:  It sounds roughly correct, yeah.  I don't know exactly off the top of my head, but, yes, it is around 53 customers.

MS. ARMSTRONG:  Okay.  Now, given that the customers are usually a municipality, is CNPI including entities other than the municipal government as a street lighting customer, like shopping malls, subdivisions?

MR. BRADBURY:  No.  Those customers would be the regional municipality, the municipality, the Ministry of Transportation.

MS. ARMSTRONG:  Mm-hmm.

MR. BRADBURY:  Ministry of Transportation has several accounts, actually, because they divide them up.  They don't put them all in the same account.

So basically they're all roadway lighting, but there's different individuals responsible.  The bridge is responsible for roadway lying in the area of the international bridge.

So they are customers, but they're not just municipalities, but they are all roadway lighting.

MS. ARMSTRONG:  Roadway?

MR. BRADBURY:  Roadway lighting.  If the street light is on the QEW, then it wouldn't be billed to the same individual as was on cul-de-sac.

And the final one is if someone is developing a subdivision, then the municipality doesn't assume ownership of the roadway lighting under their arrangement with the -- until a certain time lapse.  So we do send roadway lighting bills to private developers, as well, until such time as their subdivision agreement with the municipality comes into effect.

MS. ARMSTRONG:  Okay.  Thanks.

That's it.

MS. DJURDJEVIC:  Moving on to Issue 7.2, Mr. Harper, did you have anything else on that one?

MR. HARPER:  No, that was my only 7.2 question.

MS. DJURDJEVIC:  Schools, nothing?

Board Staff, 7.2?  Okay.
ISSUE 7.3


And Issue 7.3, VECC indicated some clarification questions.  Mr. Harper, do you have something?
Questions by Mr. Harper:


MR. HARPER:  Before I start on sort of specific questions, I guess I just wanted to sort of understand the different pieces of the evidence, because there's multiple different pieces of evidence on cost allocation under different sections.

If I could maybe give you my understanding, there's a place, Exhibit 7, tab 1, schedule 2.  Now, it's my understanding that that is the schedule wherein you set out what your proposed revenue to cost ratios are for basically Fort Erie-Eastern Ontario Power.

And that's the section that identifies the amount of revenue that is to be collected from each class in 2013, based on the rates that you want to set for Fort Erie-Eastern Ontario Power; is that correct?

MR. BRADBURY:  With the exception that those are my alternate rates.  The only difference between --


MR. HARPER:  No, no.  This doesn't deal with rates at all.  It just deals with cost allocation.

MR. BRADBURY:  It leads --


MR. HARPER:  I was going to get to that, and that is why I want to walk it through step by step.

MR. BRADBURY:  Maybe if I take some time and try to go through what I did, and then maybe it might help?  Okay?

MR. HARPER:  Okay.  If you want to try it, maybe I'll --


MR. BRADBURY:  I will try.  If I could say one thing, one of the mistakes I may have made is give too much evidence.  I should have just stuck to what I was asking for, or what we were asking for.

Okay.  So we filed standalone revenue or -- cost allocation models.  One for Fort Erie EOP combined, one for Port Colborne combined -- or Port Colborne standalone.

And then we filed a harmonized cost allocation model and we tried to work, essentially, from the harmonized model to come up with an harmonized rate structure.

It didn't work.

We saw too much bill impact, and we saw too much of what I coined later in your interrogatory response as cost transference.

So essentially what we did was we used the two standalone cost allocation models, to say:  If we have no desire to harmonize rates at all and we don't go down the road of harmonizing rates, these will be the revenue to cost ratios that we will strive to achieve, and we'll produce rates eventually in section 8 that will satisfy the Board's criteria, with the assumption that those two cost allocation models will be accepted and the class revenue to cost ratios will be accepted and I can work the floor-to-ceiling costs, and I would design rates for those.

What we did then in the -- we didn't use the harmonized cost allocation model, really, at all.  So in working with one of our consultants and trying to come up with a manner in which we could propose harmonized rates, we felt we had to come up with some methodology that would bring the relative proportions together.

So, you know, within the Port Colborne revenue requirement, the residential class in there was contributing somewhat similar to the residential class in Fort Erie was contributing to its overall revenue requirement.

And one of the ways we thought we might have a starting point there would be, rather than use the harmonized model, would be to use the weighted average of the two standalone models.  And then that would become my sort of -- the phrase you coined as my "target RC ratios and fixed/variable splits."

So really, the harmonized cost allocation model became a red herring, and in hindsight it would have been better if I hadn't put it in the evidence.  And if somebody wanted to see it in an interrogatory I could have provided it, but it served to confuse things greatly, I think, from the questions that Schools asked, the questions that Energy Probe and yourself.

So that's sort of the way 7 led into 8, I'll say.

MR. HARPER:  Still, I guess what I'm trying to understand -- three things come out of that, is -- one is nowhere -- I can't see where in the application you've actually developed or showed how you have developed these what you call weighted average revenue to cost ratios for each of the classes.  And so --


MR. BRADBURY:  It's in the interrogatory response to either -- I'm not sure which one now.

There was a question of how it was done, and I went to some length to explain the --


MR. HARPER:  Well, when I hear the word "weighting" it suggests you took results from one cost allocation, the results from the cost allocation, and somehow applied weights to them that summed to one and came up with an average.

In all honesty, I didn't see that in any of the IR responses when I was reviewing them.  And so --


MR. BRADBURY:  The weighting is -- the weighting is nothing more than a mere proportioning.

What we did was we took the relative -- if you look at the harmonized revenue requirement, say, combined revenue requirement --


MR. HARPER:  Right.

MR. BRADBURY:  -- what portion of the revenue requirement comes from the Fort Erie EOP standalone rate design and what portion comes from the Fort Erie standalone revenue requirement?

So who pays, like, what proportion of the overall revenue requirement of Canadian Niagara Power, being the sum of the two?

MR. HARPER:  Well, you would get -- wouldn't you get a similar result if you just took the revenues out of both -- from your standalone cost allocation, took the revenues out of both and the costs out of both, and had a new -- had a denominator that put both costs together and a numerator that put both revenues together?

MR. BRADBURY:  It wouldn't be much different, no.

MR. HARPER:  No.  Okay.  You know --


MR. BRADBURY:  What we're trying to do, like if you picture -- like, Hydro One went through a lot of rate harmonization, but they didn't concern themselves with the fact that customer A is going to pick up some of customer B's costs, and that.

So what we're striving to do is, on a proportional basis, you know, within each rate class and within each service territory, have the -- have the proportions that's contributed to each customer class, be it Fort Erie or Port Colborne, somewhat similar.

So in 2017 or 2016 when we file a new revenue requirement and there is a delta in the revenue requirement over that approved in this cost -- in this proceeding, then that delta will be distributed between the two areas based on their relative contribution to the sum of the two, I guess, that is happening right now.

MR. HARPER:  Well --


MR. BRADBURY:  So in that case, if we're picking up -- say the delta is $1 million in 2017 and Fort Erie pays 68 percent on just the two, the 68 percent of that delta will be picked up by Fort Erie customers.  Like, it won't be perfect, but ideally that is what we want to do.  We want to get there.

So from a cost allocation and rate design, I'm trying to bring the rate structures from a fixed variable split somewhat similar, and I'm also trying to end up with not necessarily the same revenue to cost ratio, because they're different within each other, but the proportion that a customer class pays to its allocated proportion of the overall revenue requirement.

If those are somewhat similar by the time we get to 2017, then the delta in the revenue requirement will be picked up in such a way that you won't get this transference of costs between the two sets of existing customers.  You're not --


MR. HARPER:  I must admit, I guess, like I said, I didn't see -- is there any way -- because it sounds like what you have in your mind is an idea of some extent of what -- of the target you're trying to get to.

MR. BRADBURY:  Yes.

MR. HARPER:  Let's break this down into two pieces, because I think you mentioned there is fixed-variable splits, which is the rate design within the class, and then there is the revenue to cost ratios.

Let's just stick -- we're on issue 7, which is cost allocation right now.

MR. BRADBURY:  Yes.

MR. HARPER:  Let's just stick with that in terms of, what's your -- well, what's your view in terms of where you want to get to at the end of this IRM period, in terms of what the revenue to cost ratios for each of those classes should be, or for each of those service areas -- sub-service areas should be, so when you put them together so that we -- you know, I think the easiest thing to do for you, Doug, would be to sort of try to put this down in very simple baby steps on a piece of paper so we can all read it through and try and digest it slowly.

MR. BRADBURY:  One of the -- the number one challenge in trying to put it -- the Board Staff has asked me to complete a table for 2013/2014, you know, the table 2 - I can't remember what - A2 or something.  I can't remember them.

But it is that one where I project what the revenue to cost ratios will be in the next year and the next year.  You have asked it.  Board Staff asked that.

I came back on both of them and said I'm reluctant to do that, because, one, if I were to put something down, it sort of sets an expectation of that's where I'm going.

But in my view -- and Mike Rogers worked with us on a fair bit at Elenchus.  He has been helping me.

What I have to do almost each year is look at my previous year's actuals and say, Okay, you know -- because it's going to change.  You know, the Jungbunzlauers are not going to go away.  We're always going to see -- or, you know, there may be a customer out there that we don't know that comes on.

So we're always going to see, you know, the relative contribution to revenue requirement from each class.  It's going to fluctuate.

What I would like to be able to do is look at the previous year's actual and see where I am to, and then, based on the actual contributions to the overall revenue requirement of each class -- and then move forward with the next year's setting of the revenue to cost ratios, that I continue to sort of point the two of them in the same direction.

MR. HARPER:  Can we parse it down to two pieces, then, because I guess, as I understood -- but I think there is two pieces to what the Board Staff and our interrogatories are asking for.

One was the step by step.  The other was, even if you can give us some sense of where do you want to end up, because part of what you're talking about is, How do I get this each year in terms of step by step and the concerns I have to take into account?

But my question is -- what we're lacking here is a vision as to where you want to end up, and so, therefore, we don't understand whether we're walking in the right direction, to be honest with you.

MR. BRADBURY:  Say if I were to make the assumption that the relative contribution to classes are not going to change between now and 2017, so --


MR. HARPER:  Well, can I just stop you right there, because the way the IRM works - and Board Staff can correct me if I'm wrong - you're not going to run another cost allocation between now and 2017.

MR. BRADBURY:  I don't want to.

MR. HARPER:  So nothing in your cost allocation is going to change between now and 2017, other than any revenue to cost ratio changes that you want to implement --


MR. BRADBURY:  But what will change is the revenue, the actual revenue, that I collect from my customer classes.

MR. HARPER:  But that doesn't go into your IRM calculation at all.

MR. BRADBURY:  And I know that.  And that's why I've asked the Board to give me some leeway in adjusting the revenue to cost ratios as I move through the IRM.

This is going to be a problem.  Like, we're encountering it right now.  But if you were to extrapolate and say the Board is -- in this infrastructure, new regulatory infrastructure, there is going to be, say, some regionalizations of utilities.

So say, for instance, Toronto Hydro or PowerStream were to merge or create one utility.  Then, like, you think ahead.  When they bring their rates together, would the residents of PowerStream or the residents of Toronto be satisfied knowing that when they harmonize rates, they won't -- because they will have to at some point -- that the residents of Toronto are going to pick up $5 million solely because we brought these two costs and PowerStream will drop $5 million from theirs?

From a relative point of view, that is what is going to happen.  That's what we see in Port Colborne; right?  You asked the question about what is my measure for the $380,000.  You're going to see those shifts of costs.

The Ontario Hydro -- the Hydro One model of harmonizing utilities won't work, because they never paid attention.  All they did is they pointed all of the rates in one direction.

So what we have to do, the only way that I see that you're going to be able to do this, is you're going to have to look as you close each year.  So say we close 2013, and we know what revenues we got from our GS greater than 50 customers.  We know what the revenue requirement was coming out of this, if we agree on, you know, the cost allocation models and we know what it is.

And we know that we want to keep -- on a proportional basis, we want to keep working so that the relative contributions per rate class in area A and area B are roughly the same, so that when you finally do bring the two revenue requirements together, you're sharing it equitably based on your current standalone revenue requirement.

I honestly don't see any other way of doing it, other than the Board would have to give some leeway in the IRM process to look at your previous year's actuals, the contribution by class in each area, and take that as your new starting point, and then move your revenue to cost ratios so that you're bringing the proportionments together.  Similar, I guess.

MS. ARMSTRONG:  Doug, if I may jump in there, I mean, you've been through this process between Fort Erie and Gananoque.  I'm assuming that you encountered similar problems.  How did you deal with it there?

MR. BRADBURY:  We were lucky.  When we presented the combined cost allocation, and at the same time we were under a previous Board directive to phase out a certain -- the GS greater than 50 TOU, they were close enough together.  And the cost transference that we saw, if I remember, was somewhere just slightly over $100,000.

And when we went through settlement and various -- basically, all of the parties agreed that that was a palatable amount.  And the individual rate structures between Fort Erie and Gananoque - when I say "rate structures", it is a fixed and variable size - they were fairly -- somewhat similar.  So we didn't see the movement.

If you were to look at Port Colborne, Port Colborne pays a GS greater than 50 customer almost $600 a month fixed charge.  In Fort Erie it is $130.

MS. ARMSTRONG:  Mm-hm.

MR. BRADBURY:  That -- and then an overall dollar value, I know Randy is not here today, but Randy asked me to go through a lot of scenarios, you know, in my interrogatory responses.

You can theoretically do it, but what that misses is certain aspects of the rate class.  Like, if you get a small customer in Fort Erie that is a marginally greater than 50 customer, and now he's going to see his monthly service charge go from $130 to something north of $300 a month, that is a fair rate shock, from a rate stability point of view.  Overall bill impact, not too bad.  You can manage it.

But from a rate stability point of view, that is fairly rough on a small customer like, you know, a drug store, the air-conditioning unit that, you know, it's at 50, you know, that 50 level.  That's pretty impactive.

So I think we got to view it from the customer's points of view.  Mathematically -- and I said in the interrogatory response -- mathematically you can do it, but if you take yourself and place yourself in the view of the customer, we're swinging some rates some -- pretty drastically, in some cases.

But in Gananoque, to get back to your question, we didn't have that.  You know, the fixed charge in Gananoque was fairly close to that in Fort Erie and the variable charge wasn't too far off.

So we were able to do it with not a lot of problem.

But out of the $380,000 forecasted revenue transference, if you look at the revenue transferred in this GS greater than 50 group, that is substantial, all one direction.

MR. HARPER:  I'm still struggling with trying to understand, you know -- and like I said, you know, you're talking about wanting to sort of take this step by step as we go through the IRM period.

Well, I guess what I'm looking for, Doug, is -- excuse me, Mr. Bradbury, sorry, is some definition of where it is you think you want to end up at the end of the day.

MR. BRADBURY:  Right.  What I was going to say before I got off track totally, if I make the assumption that the relative shares to customer class are going to, say, stay consistent -- you know, we're not going to lose a big customer and another customer is not going to come in -- it's going to stay pretty consistent, then I can map out where I think the revenue to cost ratio has got to go.

So long as the expectation is and the understanding is those projections are based on things staying pretty well at the status quo.

MR. HARPER:  I assume that map-out would be moving towards some target?  Because we're starting -- so I guess the question is it is not only the mapping of the map-out, but it is a matter of how you have defined or determined what the target should be at the end is.

So if you could do that, in terms of, one -- I guess the first step is:  How do you define or calculate the target you want to move to?

The second thing is, then:  How do you see yourself moving towards that target?

MR. BRADBURY:  The target, if I sit down and think about how I am going to do this, I would -- I would do a year-by-year step And say:  Okay.  Right now, if I were to do it, I'm going to transfer $380,000 in costs.

What would I have to do to the revenue to cost ratios and my rate design by year 4 to minimize that $380,000?

MR. HARPER:  You know, I guess -- but like I said, translate that in the context of revenue.  What is the final revenue to cost ratio for each customer class that you want, you know -- if you had your druthers, and as you said, the customer numbers and things stayed the same in what you got for 2013, where you would want to end up and how was that calculated.

That is really what I am interested in seeing.

MR. BRADBURY:  All parties would have to understand that if things don't move --


MR. HARPER:  What --


MR. BRADBURY:  -- in that way, then there has to be an understanding that what I present right here may not be, actually, what I come in with in 2014.

MR. HARPER:  Maybe that is the second piece of it, because if you could lay out if nothing -- all other things being equal, where you would want to end up, then maybe the second step is:  What would give rise to you having to change that?  And how would you change it -- like, you know which I think is the thing you're trying to anticipate.  What isn't likely to stay the same and what are you going to have to do in response to that?  I guess that would be the second piece, it seems to me.

Because it seems to me we have jumped over both pieces, and some of us have lost track of which way we're going and where we're going.

MR. BRADBURY:  While the theory behind it is quite simple, the process itself is quite complicated.  And that is why I opened up by saying, you know -- by offering all this information and putting the harmonized rate model in there, I served to confuse the issue.

MR. HARPER:  One answer could well be seven years from now I would like to end up with -- I would like to take the -- I think Energy Probe had asked you a question in terms of:  If I took the harmonized model and moved certain ratios around in order to meet the Board's policy guidelines, what would the different ratios be?

That could well be one -- somebody could say maybe that should be your target.  Maybe you aren't saying that, but I want to understand what your target is at the end of this process so that we can at least, if we are having a conversation next week, can make some assessment in terms of:  Do we see yourself moving in the right -- in a direction consistent with where you say you want to go over the long term?

Because we're not too sure where you want to go over the long term, so we're not too sure whether your proposed step is in the right direction or the wrong direction.

MR. BRADBURY:  It will --


MS. DJURDJEVIC:  Just to clarify, is that an undertaking?  No?  Okay.

MR. BRADBURY:  It's not an undertaking.  No, no.  I can't offer to do this on an undertaking.

MR. HARPER:  Well, you know --


MR. BRADBURY:  I can come back with something.

MR. HARPER:  Maybe we're going to have to take part of the ADR process to come back and talk about this, then, because I don't see us being able to agree on anything unless we know where we're going.

MR. KING:  What I was going to suggest, that, you know you guys are -- between the two of you, you can come up with something to explain it.

At the end of the day, all we're trying to do is that, you know -- we acquired Port Colborne Hydro and the assets and they're contiguous to us, and we want the same rates for both territories.

We're not trying to harm any of the customers, be it the customers in Port Colborne, or to help the customers in Fort Erie.  So it is as simple as that, and it is just a question of how do we get there.

We didn't feel like we could do it in one step.  We felt it would take time to get there and that is all we're trying to do.  That is the general principle of what we're trying to do here.

Doug's work was some expertise and tried to get a solution together, and it seems like if you guys can work together and plough it out and figure it out, using some time maybe in next week's settlement, over the next four or five days to come up with something that is documented -- here's where we're going to be, you know –- and, you know, we'll put something together.

Doug, is that --


MR. BRADBURY:  Again, I'm trying to picture how I would do it.  If I were to walk away now and begin doing this, I would start with what I have in front of you right now, and then I would do it for next year and I would do it for the year after, and each year I would change the revenue to cost ratios and the fixed variable splits a little bit.

So theoretically in 2014 -- or 2017, I will be retired.

[Laughter]


MR. BRADBURY:  And you skipped over that question, by the way.  I was on that list.

[Laughter]


MR. BRADBURY:  If you jump ahead to that point, then what I hope to be able to demonstrate is that I can harmonize the rates and I am minimizing this cost transference, and I haven't created any outlandish revenue to cost ratios.  I haven't moved somebody to 160 percent and somebody else to 40 or something like that, because it is all contained within each class.  I almost look at each class individually, so...

So would that help you?  Like, if I -- I said:  Okay, you know, if my customer results come in in 2014 very similar in proportion to 2015?  So I give you a rate design for every year for the next four or five years, say:  Here is what I would like to be able to do with my rates, revenue to cost ratio split, and then there's the --


MR. HARPER:  I think that would be helpful, but I think ultimately each of those changes for each of those years is moving towards some point, theoretically.

MR. BRADBURY:  That will be the point.

MR. HARPER:  Right.  So it seems to me the first step is define the point, and then you can somehow talk about movement, moving towards it.

But I think if you could do those two things, I think it would probably be really helpful to everybody in the room.

MR. BRADBURY:  Like, conceptually, can you picture what that point is?  It is the numbers or the revenue to cost ratios for each area that –- so, say, for instance, if the residential customers in Fort Erie are contributing 28 percent of my overall revenue requirement, then the revenue in Port Colborne they are contributing, on an overall basis, somewhere the same.

So when we pick it up -- I will you go -- I will try my best.

MR. HARPER:  Okay.

MS. DJURDJEVIC:  Would it be helpful for the purposes of the settlement discussions next week that Doug could provide something, sort of on a without-prejudice basis, that can be utilized by the parties to, you know, arrive at some mutually --


MR. BRADBURY:  I can banter back and forth with you over the next short while.  If you don't like what I'm doing or if you would like to see it done differently, then, you know...

MR. HARPER:  Well, actually, my first step was just to understand what your vision was, so we could then sort of comment on it and try to understand how you developed that vision.

MR. BRADBURY:  My vision is to get to a set of rates that, when combined, will not result in a cost transferring from one set of customers to another.

When I say a "set" of customers, the Fort Erie customers to the Port Colborne customers.

MR. HARPER:  Okay.  Well --


MR. BRADBURY:  I would like to bring that $380,000 down.

MR. HARPER:  I think the useful step would be if you could clear out your vision, and maybe what my comments at first would be to make sure I understand what your thoughts are, and then I think the ADR process is to talk about whether we agree with your thoughts or not, sort of thing.  I'm perfectly willing to share, maybe in advance of that, some of my thoughts, but I think the first thing is to understand where CNPI is coming from on this, sort of enough that we can sort of --


MR. BRADBURY:  I appreciate knowing what your thoughts are.  If you have a solution to it, I would like to know what --


MR. HARPER:  Okay.  We seem to be jumping around across your issues a fair bit, and I apologize to Board Staff for that.

MS. ARMSTRONG:  That's okay.  That's okay.  I was just also following up on that line of thinking.

Just if you think of it this way, the Board -- you're asking the Board to approve a rate harmonization plan, but we need to see the plan.  It is really not just for the ADR process, but --


MR. BRADBURY:  I thought the plan was there.

MR. HARPER:  Well, I think --


MR. BRADBURY:  In the absence of absolute numbers, like, again --


MR. HARPER:  Again, I think part of the problem is, and Board Staff can correct me if I'm wrong, but I think during the IRM process, typically the view is things should be fairly mechanistic, sort of thing, so that parties don't have to come together and have argument or discuss policies.

It is a matter of implementing a stepped number of changes during the IRM process that can be plugged into a little model on a spreadsheet, sort of thing, you know.

I think maybe what you're talking about involves a little bit more thinking during the process than that.

MR. BRADBURY:  It definitely would, yes.  It would require -- and that's why I have used the term "unconventional", because it is not the conventional IRM method, because to do it each IRM you would be asking for another -- you would be asking to change fixed-variable splits and you would be asking to change the actual revenue to cost ratios, each one separately, not necessarily -- you know, from a residential point of view.  It would be a residential Fort Erie, residential Port Colborne.  Both of them would move separately.

MS. ARMSTRONG:  What we would like to see is if you could give us the fixed-variable splits as Board Staff asked.  I mean, I understand it is a complicated exercise, but it would be really helpful to see what they are.

MR. BRADBURY:  Then, again, my hesitation doing that is:  Would it set an expectation?

So if we -- coming out of this rate application, we say the fixed-variable split is this or the revenue to cost ratio is a certain number, and then when we get to the end, like, we have our 2013 actuals and the relative contributions, you know, from the customer classes -- because they change; right?

You know, you say on a rate design basis and on a forecast basis these are going to be the contributions.  This is what your residential class is going to pay, or this is what your general service class -- that is not necessarily what the year-end numbers are.

You know, if you lose customers or you pick up customers, then the change in your revenue recovery, you know, it varies amongst the classes, so -- and that would be the data that goes into a cost of service application for 2017.

So you would have to -- it would have to be on the understanding that, you know, even though you put certain numbers there, they may not be actually what you present in any given year.  They may be slightly different.

MR. HARPER:  I guess maybe just as a follow-up to that, the other way one could do it is one could assume nothing changed, and then when you get to -- when you do your next cost of service say, Well, have things changed such that I can't make it all in one jump and I have to sort of, you know, do I a little bit more phase-in, or have things gone along enough that I can make the jump?

MR. BRADBURY:  That is exactly what I offered up.

I can do a projection year by year based on our forecasts right now, and then do the same thing for 2014, 2015, and move them closer together, and then say, My revenue requirement is exactly the same in 2017, and now I can harmonize my rates and I don't cause a big problem.

MR. HARPER:  Whether you did that in 2017 would depend on, in your next cost of service filing, how things actually turned out over the last four years?

MR. BRADBURY:  Yes, that's right.

MR. HARPER:  That's right.

MR. BRADBURY:  Then we have to understand what we're asking for here is an ideal situation, and when we get to 2017, we're dealing with the reality of the time by what has happened by then.

When we take over Toronto Hydro, then we can do it.

[Laughter]

MR. HARPER:  Then we know which way the cost transfers are going.

[Laughter]

MR. BRADBURY:  But it's...

MR. HARPER:  Okay.

MR. BRADBURY:  It's not a straightforward process.

MR. HARPER:  I think maybe if I could just -- I wasn't too sure where to pick up.  That sort of threw me off my script, all of this did.  I think maybe to understand the application you have right here, and, as I was saying, if I can understand what you have right here now, the revenue to cost ratio that you are proposing for 2013 for Fort Erie-Gananoque is what you've got in Exhibit 7, tab 1, schedule 2?

MR. BRADBURY:  I think so, yes.

MR. HARPER:  Yes.  Then what happens is Exhibit -- then you take that revenue requirement, let's say, for residential.

MR. BRADBURY:  Yes.

MR. HARPER:  Then at Exhibit 8, tab 2, schedule 8, you basically -- that is where you design the rates for that --


MR. BRADBURY:  That's correct.

MR. HARPER:  For 2013.

MR. BRADBURY:  That's correct.

MR. HARPER:  The same thing goes on for Port Colborne?

MR. BRADBURY:  I do it identical for --


MR. HARPER:  It is 722, and that moves to 839, if I've got your --


MR. BRADBURY:  I believe, yeah.  It flows through evenly, and then there's a -- later on in the list of exhibits, I show you what my proposed rates are, and that's where I gave you an alternative revenue to cost ratio per class and I've moved the fixed variables slightly to bring the rate structure together.

MR. HARPER:  Well, no.

MR. BRADBURY:  No.  I'm sorry, no.  Just the fixed variable.

MR. HARPER:  Yes, that's where -- because the revenue to cost ratios don't change --


MR. BRADBURY:  No.

MR. HARPER:  -- from what was in the --


MR. BRADBURY:  No, they don't --


MR. HARPER:  -- 712 and the 828.

MR. BRADBURY:  Because I have already made some changes to them, and I said, Okay, that will be our starting point.  Now let me look at fixed variable and see if I can bring the rate structures closer together.

MR. HARPER:  Maybe while we're on this general topic, there was one other thing I wanted to deal with.  You talk about -- and I guess maybe what I need to do is you talk about bill impacts and you talk about cost transference --


MR. BRADBURY:  Yes.

MR. HARPER:  -- and being concerned about both almost as if they're two different issues?

MR. BRADBURY:  I view them as two different issues, yeah.

MR. HARPER:  Because I guess what I struggle with is the fact that cost transference really just gives rise to bill impacts.  When I transfer costs, I'm going to create bill impacts.

MR. BRADBURY:  Yes.

MR. HARPER:  So the question is:  Why can't I use -- why can't my bill impact measure or my criteria used for what is an acceptable level of bill impact also be used at the same point in time to be gauging what is an acceptable level of cost transference?

MR. BRADBURY:  Because I think this is where we have to -- we have to look through the eyes of the customers both on an individual or class basis, and we have to look at them collectively.

So the bill impacts, the individual customer classes, we're going to look at that.  You know, the residential class will say, My bill is going up by 7 percent, or general service greater than 50 says, Okay, my bill is going to go up by 3 percent.

That is a bill impact side.  But if you take it one step further and you say, on a general service customer in Fort Erie, My rates are going up by 4 percent solely because CNPI would like to harmonize its rates with Port Colborne.

If they weren't doing that, my rates would have been
-- my rate and bill impact would have been something less.  So I think the two viewpoints, one is an individual customer or customer class looking at its bill impacts, and the other one is more of a collective view, because you have to picture, you know, Fort Erie and Port Colborne are contiguous.

When you drive up the street, there is no -- you know, unless you live there, you left one community and went into the other, so, you know, the news and the local politicians, and the -- and if you look back at the MAAD application - and we talked about this in the MAAD for Port Colborne - that there was a desire to harmonize rates.

But, you know, we added the caveat that if it could be done equitably.

MR. HARPER:  But the Board has a measure, 10 percent total bill, that we would typically look at for looking at bill impacts.

MR. BRADBURY:  Yes.

MR. HARPER:  Do you have in your mind a measure as to what is the way we should be gauging the acceptable level of cost transference as you have termed it between --


MR. BRADBURY:  I haven't worked it out in a percentage or something like that.

I mean, I think if the $380,000 was spread over all classes somewhat equitably, you know, it may have been somewhat more palatable as opposed to the way that it is broke up between the classes right now.

And I pointed out the general service class as one, in particular.  I mean, Port Colborne -- Port Colborne had a much greater industrial base than did Fort Erie traditionally.  I mean, they have the marine aspect, the shipyards, you know, and then a lot of marine -- heavy metal industries.  Fort Erie was a lighter type of industry.

So the cost structures are -- were different.  We're seeing a big change in Port Colborne, you know, especially with Jungbunzlauer that we have talked about at length.

So the rate structures, the way in which the rates were designed, are different, like, historically.  And all we've done since 2002 when we unbundled rates until now, really, is just, you know, we looked at our revenue to cost ratios.  We just brought the rate structures through.

This is really the first time we have looked at, you know, this is the rate structure for Port Colborne, this is for Fort Erie, this is what it looks like when you bring them together, because it doesn't create a new utility.  I mean, you saw the outcome of the harmonized revenue to cost ratio study.  It creates some numbers.

Randy asked some numbers like:  Why, if they were like this separately, why did they look different when they -- when they're combined?  And Mike answered those questions.

So, you know, I am almost forgetting where I am too here.  But they are structurally different, and so cost transference to us is important, and I think to the customers of Fort Erie.

I think if we were to come out of this and we can meet, like, Randy's number -- 73, I think it was, if I remember right, and that is where I wrote the preamble and postscript -- we could theoretically do it, and you hit that 10 percent threshold.

It is close.  Some rate mitigation might do it, but you are transferring a fair bit of costs.  I don't think that would be palatable.  It is not palatable for us as an organization to present that to our customers.

I don't know what the percentage is that makes that acceptable, but I think it is somewhat less than what it is right now.

And that's what we're trying to strive to do in this next four years, is to minimize that transference, and the rates would look -- because if you look at a Port Colborne customer right now and say:  Well, I only pay $18 a month, and my sister in Fort Erie, she is paying $25 a month for the fixed charge, we want to get those closer together before we actually do this, because it has to be acceptable to our customers.

And I think the Board would appreciate that.  I know we all have these tests, asset tests of rate, but you've got to look at it, you know, you've got to look at it from the individual customer's point of view, as well.  And it has to be acceptable to them to a certain degree.

And I think that is what we're trying to put forward here.

MS. DJURDJEVIC:  Can we back up just a few minutes?  We were talking about the cost allocation, and I believe that Mr. Bradbury had agreed to provide a cost allocation, some projections, and I think that would have been an undertaking in response to Mr. Harper's questions.

We sort of lost track and I am wondering if somebody can rephrase it and put it on the record?

MR. BRADBURY:  You could frame it as an undertaking.  I would much prefer that, while I'll be doing the work, that it is going to be a collaborative approach, so that when we get to the settlement conference, that I have answered Mr. Harper's question.

So I don't think it's something that I would do and say:  Here it is.  I would -- okay, Bill.  Here's what I got done so far.  Am I heading in the right direction?  Is this something you guys can work with?

MS. DJURDJEVIC:  How about, as I had suggested earlier, you do it on a without-prejudice basis for settlement discussion purposes only?

MR. BRADBURY:  I'm fine with that.

MS. DJURDJEVIC:  For the record, can we just specify what it is that you're --


MR. HARPER:  I think it is really trying to answer Board Staff 64 and 65, if I am not mistaken.

MR. BRADBURY:  Yes.

MR. HARPER:  Because I think one was asking for a plan around the revenue to cost ratios.

MR. BRADBURY:  And the other around the fixed/variable.

MR. HARPER:  Around the fixed/variable split.

So I think it is really a matter of trying to do the response to those two interrogatories of Board Staff.

MR. BRADBURY:  Why don't we frame the IR as a response to OEB Staff Nos. 64 and 65?

MR. HARPER:  That's what I was trying to do.  I think that would be the undertaking that would address this.

MR. BRADBURY:  I don't want to be held to it, because as I've tried to go along, the reality of the situation may not even –- might not be able to achieve that.

So can that be the undertaking?  The CNPI will provide its response to OEB Staff Nos. 64 and 65?

MS. ARMSTRONG:  Yes.  If we can get the plan on the record, we would really appreciate that.

MR. BRADBURY:  I will do that.  I don't think I could fill it out -- I have to show you a lot more information than those tables requested.

MR. HARPER:  I think the tables are the end result.

I think it would help us, too, if you gave an explanation as to what was the principles or philosophy underlying it; that makes it even better, yes.

MR. BRADBURY:  Okay.  What I will do is I will start with my rates that I am proposing right now as my starting point, and I will move up to 2017 and I'll explain each iteration.

MS. ARMSTRONG:  Yes.

MR. RUBENSTEIN:  So now I am a little confused.

MR. BRADBURY:  Join the club.

MR. RUBENSTEIN:  Is it a without-prejudice for the settlement conference?

MS. DJURDJEVIC:  No.  My understanding is now that what will be provided will be, on the record, a response to the OEB Staff's interrogatories.  I didn't take note of the numbers.

If there is something the parties want to produce for settlement discussions, you can do that.

MR. BRADBURY:  It will be, as Bill said, the interrogatory response is the end state.  Bill wants to see what gets us to that point.

MS. DJURDJEVIC:  To be clear, that will be on the record, because we do need something on the record.  I was simply suggesting that for the settlement discussions next week, if there was a draft that the parties wanted to work on, that could be filed without prejudice, but -- or exchanged without prejudice.

But I leave that up to the parties.

MR. BRADBURY:  I don't think we need it without prejudice here at all, to be quite honest.

MS. DJURDJEVIC:  Okay.  Mr. Harper, do you have anything else on 7.3?^


MR. HARPER:  I am still trying.

MS. DJURDJEVIC:  Sorry, I don't mean to --


MR. HARPER:  No.  I think in some ways, rather than getting down into the specifics of what we had on the -- right now I think probably it's best to take a step back and wait and see what we get in response to this.

So, like I said too, I understand where we're going before I start trying to understand the specifics of the proposal for the proposal for this particular -- you know, 2013.

MR. BRADBURY:  Do we generally accept the theory that, you know, we can move towards a better harmonized rate over time, as opposed to one year?  Is that, you know...

You're obviously fairly knowledgeable about this and you have done some thinking about what I proposed.

MR. HARPER:  Well, I think that is why you look at things like bill impacts.

I guess a prime example would be Hydro One, where they took multiple years to harmonize the rates across the myriad of small utilities that they purchased.

While I know you have some problems with the principles they used, I mean, that is probably a good example of saying:  Look, we can't do this all in one year.  We're going to have to do it over time.  But they had some discussion with the Board at the start of that as to where are we moving to, so that --


MR. BRADBURY:  But my understanding, if it were put in a nutshell from the Hydro One example, everyone accepted the fact there was going to be winners and losers between all of these 86 communities; right?

It was totally impractical to even think you were going to try to somehow balance --


MR. HARPER:  I live in Richmond Hill.  I know there are winners and losers when you harmonize.

MR. BRADBURY:  If you take a parabola and you're going to try to find the bottom point of the parabola, you aren't going to deal with 86 parabolas.

But with two, theoretically you can get a line through the two and find the balance.

MR. HARPER:  I think the only distinction is -- and I would ask you to think about it as you are putting this together -- is there is a difference between harmonizing the rate structure but still collecting the same revenue requirement, and harmonizing the overall level of rates that you -- the overall level of revenues that you have to collect from a particular service area, you know.

MR. BRADBURY:  Yes.

MR. HARPER:  That's what why I was trying to parse this down between, one, is where are you going on the revenue to cost ratios, and the second one is where are you going on the rate design, because you could be perfectly happy with the amount of revenues that are being collected from the individual customers in two service areas, but a fundamentally different rate design to say:  I have to harmonize those rate designs, but I really don't want to change the total amount of money that I collect.

MR. BRADBURY:  Mm-hmm.  And I guess you could take it one step further.  If you look at it and say your constituents is the residential group, then you don't want to see them, you know, paying 120 to 130 percent of their revenue to cost ratio in order for me to balance someone else.

MR. HARPER:  Right.  That's why I was trying to take it in those steps, in terms of what is the right revenue to cost ratio, first, and then how do we harmonize the rate structures within each of those groupings, realizing we're trying to bring two or three service areas together that maybe currently have different rates -- structures.

MR. BRADBURY:  You know, really, it is residential and GS greater than 50 that causes me the most grief.

MR. HARPER:  I think we had the undertaking that we need on the targets and the movement.

MR. BRADBURY:  Yes.

MR. HARPER:  I think for now, maybe, that covers all of the questions I had on Issue No. 7, if anybody else --which is basically, I guess, dealing with the cost allocations that -- you know, for the individual utilities.

MS. DJURDJEVIC:  Does Schools have -- any questions from Schools with respect to 7.3?

MR. RUBENSTEIN:  Not now.  I think the undertaking covers at least the first step of where we were coming from.

We were going to ask that 64 and 65 be answered, but I think we've got a good compromise now of how we're going to deal with it, how we're going to do it.

MS. DJURDJEVIC:  Board Staff? --


MR. BRADBURY:  My fear in answering it was it established certain expectations I may not be able to achieve, but this is a good compromise.

MS. ARMSTRONG:  Board Staff had the same concerns, in that we want to see the plan, and from what I understand, that's what you are undertaking to do, is provide us a plan with a phase-in process.  That's fine.
ISSUE 8


In terms of issue 8, is there any detailed questions that, Bill or Mark, you want to ask?

MR. HARPER:  I had three, actually.

MS. ARMSTRONG:  Mm-hm, okay.
Questions by Mr. Harper:

MR. HARPER:  Actually, I think they're probably fairly simple.  If you go to VECC 23, which I think is under issue 8.1?  In the response to part a) -- and it is really just the numbers you're quoting here.

In response to part a), you indicate that you were proposing a monthly service charge for the Fort Erie and Gananoque area of 23.66.

MR. BRADBURY:  I believe 24.66.

MR. HARPER:  Right.  That's where I was getting thrown around as to which section was your proposal and which section --


MR. BRADBURY:  When I went back and looked at the information you gave me leading to this meeting, there is a typo in the draft rate order.  The spreadsheet actually produced 24.66.

MR. HARPER:  Okay, fine.  I think that helps me understand what is going on.

The next one had to do with -- it's under issue 8.3, and it is looking at the response to VECC 28a).  If I go to the second page of that response --


MR. BRADBURY:  Yes.

MR. HARPER:  -- page 2, the first full paragraph, the first sentence ends, "is connected to a distribution line on which Standby Charges apply."

Do you really mean a distribution line on which low voltage charges apply?

MR. BRADBURY:  "Low voltage" would have been the better descriptor.  Both of them are related on that line.

MR. HARPER:  Right.

MR. BRADBURY:  We have -- because that customer needs transfer trip technology, it has to come out of Crowland station.  So we can only feed that customer from Crowland, and that is the only reason we need access to Crowland station really.

MR. HARPER:  And Crowland station is the one that is subject to the LV charges?

MR. BRADBURY:  Yes.  They charge LV.  And the LV is totally dependent on what that customer does.

Normally the customer used to wash their engines once a month.  So sometime during every calendar month, they would take their engines off line and spray the blades.  That's my layman's understanding of it.

They've, I guess in their own -- trying to reduce their own costs, they have delayed that and they can go -- sometimes skip a month.  If they skip the month, then we don't see -- we don't see their load on that feeder and we don't incur low voltage charges.

MR. HARPER:  Maybe just to clarify, because I think you said this is one of the customers in Port Colborne with standby.  You have two customers in total in Port Colborne with standby?

MR. BRADBURY:  That's right.

MR. HARPER:  One of them is the one that is leaving as of the end of this year?  Is this the customer that is leaving or the customer that is staying?

MR. BRADBURY:  That is the customer that is staying.

MR. HARPER:  It was important to me, because if it was a customer that was leaving, then obviously the low voltage charges would disappear, as well.

MR. BRADBURY:  That customer is staying.

MR. HARPER:  Okay, fine.  That was the only thing I had to clarify under issue 8.
Questions by Ms. Armstrong:


MS. ARMSTRONG:  Okay.  I am going to go back to issue 8.1, fixed-variable splits for the USL class, VECC Interrogatory 22.

You're noting here that the cost is based on number of customers instead of number of connections.  What is the largest number of connections for a USL customer?  What is the largest and what is the smallest?

MR. BRADBURY:  Largest customer?

MS. ARMSTRONG:  Yes.

MR. BRADBURY:  The largest customer would be a cable television customer.  Each one of their amplifiers would be a connection.  So I think it is in the area of at least 68 connections, I think.

MS. ARMSTRONG:  And the smallest?

MR. BRADBURY:  Unfortunately, it is one.  We can't convince them otherwise.

MS. ARMSTRONG:  Okay.

MR. BRADBURY:  Coming out of our last cost of service, we indicated that we would encourage all of the smaller customers go to a metered -- metered situation.  Most did, because it was to their advantage, because the cost structure of billing per customer was really designed for someone that had multiple connections.

Someone that had, you know, just a sign out in front of their building or something like that, just one connection, we encouraged them to get rid of them.

MS. ARMSTRONG:  Yes.  I was just wondering, what would the monthly service rate look like if it were on a per connection basis, and could you provide some bill impacts on that?

MR. BRADBURY:  Oh, gosh.  That would change everything.  That would...  That would change my cost allocation models.  I can tell you what they were roughly before we did this at all.  Back prior to 2006, they were paying somewhere in the area of $7.00 or $8.00 per month.

And if we all recall back in the 2006, one of the things the Board asked for was consistency.  You're either going to be a per connection or per customer.

We had a mix of both within our service territories, and we opted to go per customer.  So that was -- I don't think it was one of the filing requirements, but coming out of the -- leading into the -- out of the -- am I right, 2006 EDR?  There was a request to the Board to clean up our unmetered scattered load, because it was a challenge in the cost allocation informational filing process back then, and it was...

So to go back now, it would be a lot of work to give you exactly what that number would be, because really it amounts to going back and changing our cost allocation model and our load data.

I can tell you it was in the neighbourhood of $7.00 per customer, per connection.

MS. ARMSTRONG:  Okay, that's fine.

Then issue 8.3, also the standby rates, I am just trying to understand that you're not allocating any costs to that standby rate; is that correct?

MR. BRADBURY:  No, I'm not.  Our standby rate is designed -- I'm not sure how everyone else is now, but we do it on a contractual basis with the customer.

So provided they -- if they use energy, then they pay no standby charges.  So if they're on a fairly consistent basis using above what they've said to us, being the minimum they need to survive -- and this has come about really out of the need of the customer that is leaving the system.

They have a biological manufacturing process.  So they could not survive an outage longer than so many minutes.  We couldn't allocate the energy they require to run their entire plant.  So going into our last rate design, we -- again, it might have been in back in the 2006 EDR.  We proposed a change on a contractual basis.

So the agreement we had with the customer is, We agree to give you a minimum amount of power, not enough power to run your entire facility, but we would give you enough power to keep your process alive to ride you through an outage of your own generators or your own engines on site.

So what we did from a standby point of view is they wouldn't see any standby charges on the normal course.  So they take a lot of power from us, and in the normal course of events they're taking that energy.  We don't bill them standby.

If, for instance, they were doing a refit or something, and they weren't taking all of this energy from us and they were producing enough energy to keep their domestic load going, and we weren't selling them any energy, we would bill them on a contract amount.

So we say, You've guaranteed you will take a minimum of 4,500 kilowatts from us.  If you don't take it, then we're going to top you up to 4,500.  So if they only take 3,000, we bill you for 1,500.

Normally, this customer -- normally, we don't bill them unless there's some process or something they're doing internally that changes something, makes it an irregular month.  Normally, we wouldn't bill them low voltage.

So, therefore, we made our low voltage a subset of the GS greater than 50 group, because we have no standby customers, per se, that just operate on a standby basis.  So we just -- we have that contracted amount.

Once they connect to transmission, the Transmission System Code prohibits us from giving them distribution-supplied energy to their facility.  So right now Hydro One has put locks on so they can't close their switches, so we have a mutual arrangement, locking.  They can't parallel the distribution on the transmission system as they make their changeover.

But once they feed their load from the transmission system, then physically we have to disconnect from their load.  So at that point, there is really nothing to -- to go forward.

MR. HARPER:  Can I just follow up on that, my understanding?  So the circumstance here under standby power is really it's their generator is running all the time.

MR. BRADBURY:  Yes, it is.

MR. HARPER:  And when their plant isn't running, you're concerned if their plant isn't running, they aren't taking any power from you and therefore paying anything towards the facilities that are sitting there and being ready to use.  Effectively, in their opinion, there is almost stranded assets that they should be paying for?

MR. BRADBURY:  That's right.  We're reserving 4500 kVA of capacity on that feeder.

So if a customer comes along and says:  I would like to connect, we have to say:  I'm sorry, we don't have the capacity to connect you on that feeder.

You know, so we have to do some line -- and they have the same problem, of course.  They can only connect to a feeder with transfer trip technology.

MR. HARPER:  Because normally, I mean, this is a little bit different in my mind --


MR. BRADBURY:  It is.

MR. HARPER:  -- than the normal understanding, because the normal understanding of standby is when the generator goes down and the customer wants a whole bunch more power, you're concerned about the plant going down and the customer not wanting any power; is that a fair --


MR. BRADBURY:  Yeah, that is essentially it, because we're holding some in abeyance for him.  So if he's using the energy, then we're getting revenue through the distribution charge.

MR. HARPER:  What happens when his -- is he ever going to be in a circumstance where his plant is running full out but the generator goes down, and he wants to make up the generator loss by buying additional power from you?

MR. BRADBURY:  I don't think we have ever had that --


MR. HARPER:  Because that would obviously put a lot more power demand on the line, still.

MR. BRADBURY:  They are a very sophisticated operation, and their primary concern from a production point of view, from my understanding of talking to them, is keeping their biological side of their plant alive.

MR. HARPER:  Okay.  Thanks.

MR. BRADBURY:  If they die, then they're offline for something like 28 days by the time they get their product through their system.

MR. HARPER:  Okay.  Thank you.

MR. BRADBURY:  If you read the tariff sheet -- and I pointed that out -- it is actually right on the tariff sheet, the manner in which we bill them.
ISSUE 8.3

Questions by Ms. Armstrong:


MS. ARMSTRONG:  Okay.  Thank you.  One more question on LV charges, this time for Gananoque, Board Staff Interrogatory 58.

MR. BRADBURY:  What issue was that?

MS. ARMSTRONG:  Issue 8.3.

MR. BRADBURY:  Okay.

MS. ARMSTRONG:  You've provided LV cost over the historic period, and based upon the previous 12 months, you have proposed to revise that forecast?

MR. BRADBURY:  Yes.

MS. ARMSTRONG:  So to 82,329?

MR. BRADBURY:  I believe that's correct, yes.

MS. ARMSTRONG:  Okay.  Now, given that the LV costs are determined from the output of the local hydraulic generation -- if I understand that correctly -- can --


MR. BRADBURY:  It's influenced by the -- but not determined by the -- the determination of low-voltage charge is purely the amount of energy that is delivered by Hydro One to our main substation.

MS. ARMSTRONG:  What we were wondering -- if you have taken into account the unusually low rain- and snowfall over the last two years, or if there has been a normalization for normal amounts of water as being produced in those generating plants?

MR. BRADBURY:  Those are run of the river plants.  So they're not really -- they're not really influenced a great deal by how much, say -- there's no reservoir, for instance.

Any reservoir of water is really controlled by the Canada Parks Commission for the navigable waterway of the Trent-Severn – or Rideau Canal, rather.

No.  The brief answer is no, we haven't considered any rainfall amounts or...

MS. ARMSTRONG:  But you're also saying it is really not influenced that much by the water levels?

MR. BRADBURY:  Not influenced a great deal, because the spring runoff that you would get from snow cover really is, for the most part, controlled by Parks Canada when they open the canal.
ISSUE 8.4
Questions by Ms. Armstrong:


MS. ARMSTRONG:  Okay.  One more question in Issue 8.4, the loss factors.

If you can tell me what the approximate amount - this is Interrogatory No. 60 - if you can tell me what the approximate amount of savings is to CNPI customers from the reduced debt retirement charge due to the three generation facilities on the north line?

MR. BRADBURY:  I would have to do an undertaking.

MS. ARMSTRONG:  Would you undertake that?

MR. BRADBURY:  That is relatively straightforward, I would think.  Based on the debt retirement charge they pay and what it would be if it was 0.0072?

MS. ARMSTRONG:  What is the cost of the losses -– like, what would be the amount of energy lost if the power were delivered -- had a distribution loss factor of three percent, compared to the actual losses?

MR. BRADBURY:  What would be the...  Sorry, can you...

MS. ARMSTRONG:  What's the cost of the losses?

MR. BRADBURY:  Cost of the losses?  So the cost of energy between what our loss factor is and a theoretical number of three percent?

MS. ARMSTRONG:  Yes, that's right.

MR. BRADBURY:  Three or 3.2?

MS. ARMSTRONG:  Three percent.

MR. BRADBURY:  Okay.  We can't neglect the fact that Hydro One adds 3.2 percent to our losses, because that would be a negative loss from Hydro One.  In order for us to -- I mean, the number has to be realistic.  So it would have to be 6.2.

MS. ARMSTRONG:  Okay.

MR. BRADBURY:  Agreed?  Because Hydro One is going to bill us 3.2 percent, even if ours is zero.

MS. ARMSTRONG:  Okay.  Let's factor that in, if you can undertake that.

MR. BRADBURY:  So 6.2 percent?

MS. ARMSTRONG:  Yes.

MS. DJURDJEVIC:  Clarify what the undertaking -- can we clarify what the undertaking was, because it started a few minutes ago and there was some add-ons?

MR. BRADBURY:  So two undertakings.  The first one is the -- what the customers in Gananoque would pay at the prevailing debt retirement charge, and at the debt retirement charge as applicable to the customers there.

So basically it's the difference between 0051 and 0.0072, something like that.

MS. DJURDJEVIC:  That will be undertaking KT1.11.
UNDERTAKING NO. KT1.11:  TO ADVISE WHAT CUSTOMERS IN GANANOQUE WOULD PAY AT THE PREVAILING DEBT RETIREMENT CHARGE, AND AT THE DEBT RETIREMENT CHARGE AS APPLICABLE TO THE CUSTOMERS THERE

MR. BRADBURY:  And the second undertaking would be what would the costs of power -- difference in the cost of power be at a theoretical loss factor of 6.2 percent, as opposed to the loss factor that's been proposed in this rate application.

MS. DJURDJEVIC:  And that will be KT1.12.
UNDERTAKING NO. KT1.12:  TO ADVISE THE DIFFERENCE IN COST OF POWER AT A THEORETICAL LOSS FACTOR OF 6.2 percent

MR. BRADBURY:  And you just want a number for the year?  An annual -- based on the forecast year -- if I can understand this, because it gets very complicated.

So based on the forecast year?

MS. ARMSTRONG:  Yes.

MR. BRADBURY:  Okay.  That's straightforward.

MS. DJURDJEVIC:  I am going to suggest that -- unless anybody else has questions on issue 8 -- that we take a brief break and then come back and finish up, if anybody has anything on issue 9, although I think we have discussed it pretty exhaustively.

Then I believe there is just a couple of small questions on issue 10.

Does that sound agreeable?  So we will come back at 2:45?  2:45?  Okay.

--- Recess taken at 2:28 p.m.

--- On resuming at 2:50 p.m.

MS. DJURDJEVIC:  Ready to resume?

All right.  Welcome back, everyone.

Before we continue, I just want to indicate on the record that we have another member of Board Staff, Bendimia Castellanes, who will be just presenting a couple of follow-up questions on one of the issues, issue number 4, and then -- sorry?  Oh, as well as issue 10.

And then joining us, also, will be Ted Antonopoulos, who will be asking quick questions pertaining to issue number 10.  So with that, I would hand it over to Bendimia.
ISSUE 4

Questions by Ms. Castellanes:


MS. CASTELLANES:  Hi, my name is Bendi Castellanes.

With regards to issue number 4, I guess there was an earlier question about how figures were configured with regards to the actuarial gains and losses.

Basically, the question in here emanates from the fact that we want to find out whether there are any actuarial gains or losses during the transition to IFRS.

As you noted in here, if you look at note 4 of the 2011 audited financial statements, there is that calculation for accrued benefit obligation and also for the unamortized amounts.

And under these two categories, we have actuarial gains and losses, or losses.  And the figures in here, the 753,000 -- I guess these are stated in thousands of dollars; right?

And the figures came from this 413 in 2011 column under benefit -- pension benefit plan, and also other retirement plan of 340.

And the other one comes from the same column, 2011, unamortized amounts for 2.4 million, and the other one, under other retirement plan, you have 1.1 million.

So the question is:  Given that you have some unamortized gains in your audited financial statements for 2011, we were wondering whether -- because of the transition to IFRS, if you have any actuarial gains or unamortized actuarial gains or losses, and, if so, what would you propose as your regulatory accounting treatment?

MR. KING:  I guess the answer to the first part of your question, we're not moving to IFRS.

MS. CASTELLANES:  Okay.

MR. KING:  So there is no different treatment of unamortized gains and losses.

MS. CASTELLANES:  But for this rate application, because you were showing a lot of these IFRS figures, you won't show any unamortized gains or losses for IFRS purposes?

MR. KING:  Correct.

MS. CASTELLANES:  I see, okay.

MR. KING:  Just to expand, I guess where you're going with that is that under IFRS you would recognize your unamortized gains and losses on your balance sheet.

MS. CASTELLANES:  Mm-hm.

MR. KING:  And most LDCs who have done that also have set up offsetting regulatory account.

Under IASB, we're not required to do that currently.  If indeed at some point down the road we were required to do that, we would come back with an application -- request to do that.

So our revenue requirement is set based upon others, except we haven't recorded on our balance sheet both sides of that equation, the unamortized amounts and the asset or liability, whatever the case may be.

MS. CASTELLANES:  Okay.  Thank you.
ISSUE 10

Questions by Ms. Castellanes:


The next one is with regards to issue 10.  I guess, like, in your response to Board Staff IR No. 66, you stated that you are proposing to dispose -- defer the disposition of account 1592 PILs and tax variances for 2006 and subsequent years in your 2014 IRM application; is that correct?

MR. KING:  Yes, it is.

MS. CASTELLANES:  And so the question is:  Are you able, at this time and in this rate application proceeding, to complete appendix 2-T and all of the supporting calculation for account 1592 for all your service territories?

MR. KING:  No, we're not.  That's the reason why we proposed to do it under the IRM.  Quite frankly, it was something brand new to us, and so we weren't able to do that.

MS. CASTELLANES:  I see.

So if that is the case, can you confirm with us now that once you file your 2014 IRM application, you will be able to complete and file the T2 with the supporting detailed calculations?

MR. KING:  We can complete those schedules.  I'm not sure that is dependent on the other issue with regard to 1562 and PILs, but we will complete those appendix T2 as required.


MS. CASTELLANES:  Yes.  This is for account 1592.

MR. KING:  1592, okay.

MS. CASTELLANES:  Okay.

MR. KING:  For the 2014 IRM, okay.

MS. CASTELLANES:  Okay, good.  Thank you.

MS. DJURDJEVIC:  So unless anybody else has anything else on issue 9, we will move on to -- sorry, Mr. Harper has something.
ISSUE 9

Questions by Mr. Harper:


MR. HARPER:  Yes.  Just two more points I wanted to follow up on under issue 9, if I could.

The first was on issue 9.1, and it is the response to VECC Interrogatory 32a).

In this interrogatory, we were asking you to reconcile what appeared to be differences between the revenues to be collected using -- the fixed revenues to be collected using the existing fixed-variable split in two different references.

Your answer said, well, one is because we're proposing one thing, and others, because this was just an illustration, if I understand this correctly, but -- and I really don't understand that, because what we were asking for was not what the proposals were, but the table showed what was the -- what would be the fixed related revenues using the existing fixed-variable split, which is a known quantity.  That doesn't change.

And the total amount of revenues to be collected from the residential customers, you know, distribution rates in those two references is exactly the same.  So, theoretically, if you apply the same ratio to the same revenue, you come up with the same number in both cases.

Since we didn't, I would ask you to maybe go back and help --


MR. BRADBURY:  I believe -- and it was in your follow-up questions you sent me last week, and I realized the header on the table is not correct.

The second table that says existing fixed-variable split is actually the change fixed-variable split from the preceding table.

MR. HARPER:  So that would be in Exhibit 8-2-8?

MR. BRADBURY:  Yes.

MR. HARPER:  That should be the proposed or changed one?

MR. BRADBURY:  Yes.  It is the modified fixed-variable split that was presented in the previous --


MR. HARPER:  And the same thing would apply on the schedules for Port Colborne?

MR. BRADBURY:  Yes.

MR. HARPER:  Because there was the same issue there on the Port Colborne ones.

MR. BRADBURY:  I tried to use the same model consistently so you could see my flows.  Really, when I got into the proposed rate, I should have -- you know, I should have changed that -- I shouldn't have called it the existing fixed-variable.

I don't know what I should have called it, but I shouldn't have called it that.

MR. HARPER:  Okay, fine.  That helps.

Then I only had one other question that had to do with -- you answered a VECC 33d), which is under issue 9.2, I believe.

Here, this was -- 33d), yes.  This was dealing with your schedule -- the part in the exhibit which is -- application, which was Exhibit 7, tab 3, schedule 1.

So if you want, you might have to look at that, as well.

If you look at that -- let me just turn it up myself so I...

And we were asking you in part d) here basically how you came up with the proposed ratios you were showing in appendix 2-O.  We postulated that really what you had done is you added the -- now, this appendix shows basically combined revenue to cost ratios when you put the two service areas together.

We were postulating that basically what you did was you took the proposed revenues from Fort Erie/Gananoque and the proposed revenues from Port Colborne and added the two together, and this was the overall result that you got.

Except when I do the math, it doesn't give me the revenue figures you are showing here.

And in particular, I guess if I go to table number 2, column 7D, really what I can't do is I can't reconcile the revenues at the proposed rates with the proposed rates that you have actually proposed in the previous two exhibits dealing specifically with Port Colborne and with Eastern Ontario Fort Erie.

MR. BRADBURY:  So the -- I actually did that one.  I couldn't find it.  I was looking for it.

MR. HARPER:  Maybe if you just want to --


MR. BRADBURY:  Like, you gave me a table last week and you said these numbers don't -- the first two numbers came right out of column D in the cost allocation model.  So if you go down to the number that is the revenue requirement has one -– one plus D, you will find the number there.  It was taken directly --


MR. HARPER:  It is really the proposed rates column, is the one that's --


MR. BRADBURY:  Proposed rates.  I weighted the average of the two, and that's the part we talked about earlier that I never really talked about and that I should have.

And that is where we -- and I apologize, because I confused everyone, including myself, because I put the harmonized rate cost allocation model in there, but I used the weighted average of the two service territories.

And the reason I did that was -- and a lead-in, hopefully, I can -- my undertaking earlier today I will show you why I did it and hopefully it will lead to a right answer.

But the column that you tried to take the two and add them together, it was the weighted average combined.  So I --


MR. HARPER:  Okay.  Maybe we will have to wait and see the undertaking, then, and --


MR. BRADBURY:  I will try to reproduce it for you.

MR. HARPER:  Okay.

MR. BRADBURY:  You can see where I got it and -- I apologize, because I -- in retrospect I know I put together very confusing models.

I shouldn't have shown it all, and I thought I was being helpful when I did it and we talked about it internally and it would help you understand why it wouldn't work, but what I did is I led to more confusion.

So the third column in the table you presented me last week, which is the one you're referring to in your question right now, is the weighted average or the weighted sum of the two independent cost allocations.

MR. HARPER:  Maybe the thing is if, in this undertaking, if you are going towards what's the weighted target, maybe just explain why you think that is the appropriate place to go to.  That would be great.

MR. BRADBURY:  Yes, yes.

MR. HARPER:  Thank you.

That is all I had under issue 9.

MS. DJURDJEVIC:  Board Staff had some follow-up on issue number 9, as well.
Questions by Ms. Armstrong:


MS. ARMSTRONG:  Yes, Board Staff Interrogatory No. 61.

If you could please show us a table referring to Port Colborne, similar to Fort Erie and Gananoque that you showed here, for comparison reasons.

Then in your undertaking to provide us with the rate harmonization plan, I just wanted to see if you could undertake to also show harmonized RTSR rates, as well as low-voltage service charges.

MR. BRADBURY:  No, I can't.

Retail transmission rates are billed to us by the IESO or Hydro One, and they're based -- "no, I can't" is not the right word.

I can, but it is going to be very, very difficult, because we are billed separately.  The IESO bills us -- we're separate entities for the two billings of retail -- for their billings of retail transmission.

And you pay -- for network charges, you pay, I think it is 85 percent.  Or that if you peak on peak, you pay the peak.  So I'll have to make certain assumptions, so really until such time as the IESO can give me one invoice, I don't know that I can answer that question.

MS. ARMSTRONG:  Okay.  Then hypothetically speaking, say you would harmonize rates within one year in this rate application; how would you be dealing with the RTSR rates?  Would that be excluded or --


MR. BRADBURY:  No.  No.

What we want to do - and we have already begun conversations with the IESO - what we want to do in conjunction with harmonizing the rates is create, electrically, one utility.  So the IESO invoice for Canadian Niagara Power will be a -- will be a single invoice, a single bill.


So they will take all our delivery points and they will bill us as one entity.  And at that time, we would be billed, you know, the three items on the IESO bill, the line connection, the transmission connection and the network charge.  We will give one -- one charge from the IESO.

If we choose not to register Gananoque as a market participant -- right now, they're an embedded entity in Hydro One, and they do better.  The costs that we pass through to our customers in retail transmission are better embedded in Hydro One than they are market participant, as it stands right now.

So we may choose to leave those alone.  We will have to evaluate what the costs would be.

I mean, Hydro One themselves deregistered a number of their sites because it was more beneficial.

So until we get that single bill, it's very difficult to harmonize retail transmission rates.  It could be done, I think, but –

Further Questions by Mr. Harper:


MR. HARPER:  Can I just follow up on that?

Whether you are one full utility or not, whether you're one utility, three utilities or two utilities, that doesn't change the charges you actually get billed from.

You know, unless you actually change the status of Gananoque, and -- market participant or not, your rates are applied to each specific delivery point.  That doesn't change -- whether you are harmonized or not, that doesn't change the charges the IESO places on you?

MR. BRADBURY:  Not the charges.

MR. HARPER:  No.

MR. BRADBURY:  For network, it may change the network charge, not the charge parameter.

So now you're looking -- because network is charged on whether you peak on peak or off peak.

MR. HARPER:  That is for each delivery point, though.


MR. BRADBURY:  Maybe you're right.

MR. HARPER:  And that isn't going to change regardless of whether you are one utility, two utilities or three utilities?

MR. BRADBURY:  Okay.  Maybe you're right.  I may be mistaken.  You may be right.  I thought it was -- I thought they looked at it on an overall consolidated basis, but it may be on delivery point.

No.  We have two delivery points in Fort Erie, but we only get one network charge based on the -- I only see one.

You may be right.  They may do it behind the scenes; I don't actually see it.  I only get one line item for the two delivery points for network.

MR. HARPER:  I was just following up on whether it would change, because if you were to assume --


MR. BRADBURY:  My desire, or what I would like to do is when I can electrically become one utility, then I would harmonize my retail transmission rates.  That would be my preference.  Maybe based on your point, maybe it is possible to do it by just combining your costs, but...

I know on the Port Colborne bill, I get one transformation charge; on the Fort Erie bill, I get one network charge.  But I am -- Port Colborne I have five delivery points, and Fort Erie I have two delivery points.

I don't know how they do it, quite honestly.  Maybe in their settlement.

Because I was thinking when I got the question first that I would just have the dollar values.  I don't know the coincidence of the two network charges, if it would change or not.  It would probably be very little.  But that was the rationale.  I would prefer to have the one within the IESO and then harmonize it.

So back to your question, it would be a matter, I guess, of just taking the two RTSR models that I gave you, adding them up and dividing by the combined loads.  And I could give it to you, whether that is -- it will be picked up in the variant, anyway, so yes.  I guess under that assumption you could do it, but I think it would be much cleaner if we were consolidated within the IESO.

MS. DJURDJEVIC:  Do we have an undertaking to provide --


MS. ARMSTRONG:  I think we can add that to the undertaking we had.  You were talking as providing more information than those tables I had asked for, so if you could give us a scenario there.

MR. BRADBURY:  So in your interrogatory, you didn't ask me for Port Colborne; right?  You only asked me for --


MS. ARMSTRONG:  No.  The Port Colborne, that is separate.  That's --


MR. BRADBURY:  That's a separate interrogatory?  No. 62, is it?

MS. ARMSTRONG:  No, 62, that's a separate undertaking.  The RTSR I think could be part of the answer that you provide when you provide the rate harmonization plan.

MS. DJURDJEVIC:  Just for reference, that is KT1.10.  So is this sort of an addition to -- additional or supplemental to KT1.10?

MR. BRADBURY:  That is a totally different period than Bill has asked for in the previous undertaking.

MS. DJURDJEVIC:  So let's give this a separate new number, KT1.13.  Can we just state on the record for clarification what it is?

MR. BRADBURY:  I would give you a combined -- combine the RTSR models that are currently filed and create rates based on the forecasted volumes for Fort Erie, Port Colborne and EOP combined.

MS. DJURDJEVIC:  Thank you.
UNDERTAKING NO. KT1.10:  TO COMBINE THE RTSR MODELS CURRENTLY FILED AND CREATE RATES BASED ON THE FORECASTED VOLUMES FOR FORT ERIE, PORT COLBORNE AND EOP COMBINED.

MS. ARMSTRONG:  Then you also would show the current and proposed RTSR rates for Port Colborne in the same format as the Interrogatory 61?

MR. BRADBURY:  I don't understand what that would do, because you just asked me in the first interrogatory to combine all three.

MS. ARMSTRONG:  Yes.  We would like to have one separate for Port Colborne, and then a harmonized version.

MR. BRADBURY:  Separate for Port Colborne is what I am asking for.  That's in the rate application.  The retail transmission work form that is in there is Port Colborne standalone.

I mean, I would be just reproducing the Port Colborne rates.  It is what is in evidence.  Would it not be just a reproduction of the rates?

MS. ARMSTRONG:  Is it in this same format?

MR. BRADBURY:  You have to make it bigger so I can see it.

It would be just one -- the question number 61 asked me for the RTSR rates for Fort Erie and the EOP and state Fort Erie planned if we're going to harmonize.

I said, No, we weren't going to harmonize them.

So, okay, I will provide Port Colborne.  It will be the same undertaking.  I will just include a table that shows the rates we're asking for Port Colborne, and then harmonize all three of them.

MS. ARMSTRONG:  Right.  Thank you.

MS. DJURDJEVIC:  Okay, that is it for issue 9.

Moving now on to issue 10, I think Mr. Antonopoulos was going to -- or we will go with the order of intervenors first -- or Mr. Antonopoulos first.
ISSUE 10

Questions by Mr. Antonopoulos:


MR. ANTONOPOULOS:  Thank you, Ljuba.

Panel, my question is based on the update filed on August 27th with respect to the request to dispose of account 1562, which is the historical tax true-up account which covers the period from market open until April 30th, 2006, I believe.

So the original balance filed or the balance filed as of -- to this point was $1.1 million, and it is a credit to customers spread over the three service areas.

And the August 27th letter stated that you are now withdrawing that request based on the fact that it has come to your attention that CNPI is not the subject of section 93, which is the legislative underpinnings of the Board's methodology for truing up the taxes for that period.

I just want to quote one part of the letter, which is the last part of the last sentence in the second paragraph, right above the excerpt that there is from the Board's decision in the combined PILs proceeding.

It says:

"...the Board's decision and order in the Combined PILs Proceeding ... excluded CNPI as a beneficiary of the principles derived from that proceeding..."


Now, the excerpt that follows from the Board's combined decision appears to be relating more to cost responsibility than to specifically opining on the principles.  Would you agree?

MR. TAYLOR:  Maybe this is something I should answer, Andrew, because I guess this isn't really evidence.  This is more legal argument; right?

MR. ANTONOPOULOS:  Sure.

MR. TAYLOR:  We acknowledge that that quote comes from the cost portion of the combined PILs decision.

MR. ANTONOPOULOS:  Okay.

MR. TAYLOR:  It is actually enlightening that that section -- despite the fact it comes from the cost portion, the logic is that all LDCs who are subject to 93 and rate regulated by the OEB would have been subject to the principles that came out of the combined PILs proceeding.

And because -- and because they were, they should have foot the bill for that combined proceeding.  Therefore, it follows that those who are not going to be the beneficiaries of the principles that came out of that proceeding should not foot the bill for the proceeding, and that would include CNPI.

MR. ANTONOPOULOS:  Would you -- to the best of your knowledge would you agree that the Board has never explicitly opined on these other distributors who are identified in this paragraph that were not subject to section 93 vis-à-vis the principles that came out of the proceeding?

MR. TAYLOR:  I don't know.

MR. ANTONOPOULOS:  Okay.  Would you agree that the combined proceeding didn't address that directly, subject to check?

MR. TAYLOR:  Subject to check, I don't believe it did.

MR. ANTONOPOULOS:  Okay.  In terms of the withdrawal, the request is to withdraw the claim.  The evidence, though - and this is just a procedural question - is still on the record, so -- unless that is not your understanding.

Andrew, you haven't asked the Board to expunge or remove the evidence from the record.  The reason why I am asking is I want to establish the expectation that there might be -- it might be -- the parties might avail themselves of the argument phase of this proceeding, if it gets to that point, to argue whether or not the principles that came out of the combined PILs proceeding should apply to CNPI or not.

And presumably if the Board, let's say, in theory, was to agree it should apply, then we still have the evidence, we still have the balance.  To the extent that the Board was happy with the balance it, in theory, could still dispose of the account?

MR. TAYLOR:  My view on the matter is that if the circumstance had been that CNPI had not filed a request to dispose of its balance of 1562, the intervenors -- if they were of the view or Board Staff was of the view that 1562 applies to CNPI, it could have asked for an undertaking that CNPI provide a SIMPIL model and calculate what its 1562 balance would be, if it applied, in which case they would have that and we would have provided that, regardless of whether or not we believe it applies or not.

And then Board Staff and intervenors would have had the opportunity to make arguments as to the application of 1562 based on that evidence.

So because they could have asked for that information and we would have provided that information, we don't see any need to expunge it from the record.  If I were to say right now we're expunging it from the record, I'm pretty sure the intervenors within one minute would say, Would you undertake to provide that information?  And we would say yes.

So let's leave it on the record and leave it as a legal argument.

MR. ANTONOPOULOS:  Okay.  In terms of the variance account itself, is it CNPI's view that the variance account applied to it?

Perhaps as a secondary question to that, can you tell us whether CNPI actually made RRR filings in this account over the years?

MR. KING:  Yes.  If you go back and look at all of our RRR filings, the 1562 account would have zero balances on this.  We have not recognized any amounts in that account historically.

And, in our opinion, 1562 related to PILs and we do not pay PILs, so it doesn't relate to us.  That is why we never recorded anything in that account.

MR. ANTONOPOULOS:  Okay.  And my last question is specifically on Port Colborne.

The full amalgamation didn't take place until fairly recently.  Is it your view that Port Colborne is in the same bucket, so to speak, as the two other service territories because CNPI was -- notwithstanding they didn't own the legacy assets, they were the operator of that territory and, therefore, the same principles would apply vis-à-vis this account?

MR. KING:  Can you repeat your question, again?

MR. ANTONOPOULOS:  It seems you've treated Port Colborne the same in terms of whether there should be a tax true-up from market open until April 30, 2006, even though CNPI did not amalgamate with Port Colborne until fairly recently.

If CNPI was - if I am stating this correctly - owning any new assets that was going into service during the life of the lease, and operating all assets, it -- both had licences.  Port Colborne had the licence to own the legacy assets, I believe, and CNPI had the licence to own any new assets plus to operate all the assets.

So I'm just trying to understand whether there is a difference for this account vis-à-vis Port Colborne or not, historically.

MR. KING:  To be quite honest with you, we haven't fully thought that one through.

With respect to Port Colborne, we do know that we started leasing the assets in April of 2001, and -- no, April of 2002.  And prior to that, certainly Port Colborne, you know, paid PILs and used the Rudden model to -- after the fact.  Port Colborne, certainly the assets and -- since we owned them, paid income tax.

So there is maybe a bit of a soft difference there, but we haven't really thought that one through totally.

MR. ANTONOPOULOS:  Okay.  I guess the last question for Andrew:  Would it -- if we were to dispose of this account, would it be, in your mind, retroactive ratemaking?

MR. TAYLOR:  Absolutely.

MR. ANTONOPOULOS:  Thanks.

MR. RUBENSTEIN:  Can you undertake to think it through, about how --


[Laughter]


MR. RUBENSTEIN:  No, I mean, about how Port Colborne fits into this, before the settlement conference?  Because I think -- forgetting any arguments that we may or may not make regarding if the whole thing applies or not, I think there is a sort of a discrete question about part of Port Colborne might apply.

MR. KING:  Yes.  We can do that.

MR. RUBENSTEIN:  Thanks.

MS. DJURDJEVIC:  That will be Undertaking KT1.14.
UNDERTAKING NO. KT1.14:  to EXPLAIN HOW PORT COLBORNE APPLIES TO THIS SCENARIO.

MS. DJURDJEVIC:  Those are all of the questions on issue 10.  And nobody else has any other enquiries?  I guess we are adjourned for today.

Thank you, everyone.

--- Whereupon the hearing adjourned at 3:22 p.m.
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